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1.  Identify the appropriate collective noun for bees.
(A) herd (B) swarm (C) group (D) bunch

2. Which single word would mean the same as underlined portion of “The vaccine made the

person resistant to infection from Covid-19 Virus”.

(A) Immune (B) Healthy (C) Doctor (D) Medicine

3.  Which word in the following list is a Verb ?
(A) Run (B) Black (C) Faster (D) Human

4.  Choose the correct punctuation mark for the sentence.

“Have you seen my school bag”

(A) B © & (D)

5.  What does “hang up the boots” mean ?
(A) Place the boots for cleaning (B) Kill someone by hanging

(C) Retire from active life (D) Peace after a war

6.  Fill in the blank :
Yasmin on paying the bill for her whole group.
(A) requested (B) promised (C) suggested (D) insisted

7.  Identify the preposition in :
The man is sleeping on a cot.

(A) on (B) man C) is (D) the

8.  Which word is the antonym of “Arrival” ?
(A) Conquer (B) Enemy (C) Departure (D) Welcome

9.  Identify the synonym of “Accurate”.
(A) Total (B) Pedigree (C) Sincere (D) Correct

10. Which is the correct spelling for an annual day-date list ?
(A) Calandar (B) Calendar (C) Callendar (D) Calender
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11. Which kingdom did Sati Sadhani belong to ?

(A) Koch Kingdom (B) Ahom Kingdom

(C) Dimasa Kingdom (D) Sutiya Kingdom
11. TS AT (I TS TS w2 wiifes 2

(A) (b ey (B) IC2 ey

(C) foumg wrey (D) pbI ey
11. 7S AT (I Aeene forem 2

(A) (&6 ATy (B) I AT

(C) TCP1l ey (D) pfew ey
11.  9fd wre' = o« TEsifHEE ?

(A) w9 IS (B) 3E'H TSN

(C) fewmen wsh (D) gfen Tsh
11. Gl @ret fohe Tsg 9 Heifed of ?

(A) H= A (B) TEH T

(C) fear T (D) g T4
12.  Which community of Assam has “Choklong” system of weddings ?

(A) Bodo (B) Dimasa (C) Mishing (D) Ahom
12, SPTR (FiF MRS T’ AL el ogfos 21 ¢

(A) el (B) for © fafx (D) e
12, SPIGR (P AW [0 “ IR #1afe e 2

(A) el (B) fowm (© fafsx (D) S
12.  STEEE o6 e =k @St Jfa @ ?

(A) % (B) femmm (€ fafg (D) ¥&™
12. o790 & forq wqeE § <’ st foamg gomett € 2

(A) @rE (B) feur (C) fufdm (D) 3sEM
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13.  Which instrument is used for measuring atmospheric pressure ?

(A) Hydrometer (B) Altimeter (C) Barometer (D) Thermometer
13. ISR BI7 GRCe (@ARY TG 929 790 2 2

(A) 22GTOR (B) wIfSfGR (C) @IfoR (D) ARER
13. AR BI9t AR G (i g 927 I 27 2

(A) ZEIRGRE (B) GG (C) TRoE (D) QAHREE
13. 99 SHYST TRAVSART TRATIE! T ?

(A) TESHR (B) stafefier (C) R (D) o\ 'THeR
13. SHSc™ <ad i 4199 % fou fond SueRtor o1 3w fohan <mar © 2

(A) TESHIR (B) 3TeaiHIeX (C) SRR (D) ¥HMH
14. Kathakali is a dance form of which State ?

(A) Gujarat (B) West Bengal (C) Kerala (D) Himachal Pradesh
14. TR (FINL ST GF TOF <A 2

(A) wT@s (B)  sif*oam Q) & (D) f2sivet 2o
14. AP (I ACH TOICA 2

(A) wTAG (B)  sif*om Q) (D) f2sivet 2o
14. HUFHAI T TS HEHR ?

(A) TN (B) THTE STTE (C) e (D) Teureat g
14. FUHA fHd TF H1 T ®I 7?2

(A) TN (B) uf=d Sa (C) A (D) Teureat g
15.  Which of the following sea passages connects Asia with Europe ?

(A) Suez Canal (B) English Channel

(C) Panama Canal (D) Strait of Malacca
15. ISR @G Mmere 9 2SEIPR PIs A9 7@ 2

(A) DR A (B) TS e

(C) =l <le (D) SIeTRR elefieTt
15.  IbA (I g @il € TSI IS IFACR ?

(A) IS A (B) feml BritTe

(C) =l 2feT (D) et oo
15. TR a6l Tiefl TR UfEa T S3e! S 2

(A) gUS SR (B) Eferer @M

(C) U SR (D) AT BT-GSTTe
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15. frefafed § 9 &9 @ 9 At ofvrn o 9129 9 sed # 2
(A) W TR (B) e TR
(C) T T (D) HAFRT STSHEHEY

16. Which of the following districts of Assam is in the Barak Valley ?
(A) Hailakandi (B) South Salmara-Mankachar
(C) Chirang (D) Morigaon

16. RIS @ fEm 9F Toioere sRfFe ¢

(A) AT 1 (B) vl *{[eTE] - WAFRS
(© foar (D) wfRelfe

16. @053 @ @@ AR IAF TSI SRFS 2
(A) eI (B) W *{[TIR - WAFRT
(C) o=l (D) et

16. MM 99 fSR SRIE AIHISTE ?
(A) BETHRIS (B) Gl HITHII-HTThTSR
©) fuu (D) wfemE

16. 3199 o1 fAfafad o | siH-91 fSen st =el § € 2
(A) SRSt (B) Ty WA=
() fewim (D) HRITE

17. Which of the following is the Capital City of Chhattisgarh ?
(A) Raipur (B) Ranchi (C) Bhagalpur (D) Dehradun

17. TREIRS A2 (S Zewes el 521 2

(A) RS (B) Mt (©) S (D) g
17. +I6F (D SeHIasa AT =27 2

(A) 7 (B) i (©) SrEeE (D) O
17. TSRS SHE e SIRTSH et 2

(A) TIR (B) WA (©) WTER (D) &g
17. frAfafed § @ SF-91 SWETE St TS € 2

(A) TIR (B) T (©) HrTEaR (D) <&
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18. Which of the following rulers had ascended the throne at Delhi ?

(A) Chand Bibi (B) Rani Ahilya Bai (C) Rezia Sultana (D) Rani Laxmi Bai
18. fsfle (oI =P el Fizeme iz SR 2

(A) v =& (B) M Stz AR (C) (&Gl pevelwi (D) [T s Al
18.  CE (i (7 el PRI et SR 2

(A) v =& (B) AMie=Emi Ax  (C) S Ewei (D) AT SR Al
18. TREM 99 QAT feeeti TeifaeraaTe ot 'SidH ?

(A) == fafa (B) UftoT afgean s (C) ot ear (D) qftr weHt =3
18. freAferfad & @ =i &1 wreen faeeft i TE W ser o912

(A) i St (B) Tt sfgem s (C) X gearn (D) T At =8
19. Kurseong is a hill station in the state of :

(A) Sikkim (B) Arunachal Pradesh

(C) West Bengal (D) Nagaland
19. IO 2 9 GF AT Sg ¢

(4) P (B) SeIlbet 2l

(C)  wif<ox<t (D) TllCeTe
19. IR ARfE gl i e 2

(A) Bifew (B) SRFOBE AT

Q) Aot (D) siimite
19. FfdAleT IS B W& |

(A) fafsrm (B) TUTEA YW

(C) HIr S (D) HRTRA=
19. FHIHFT 0 T F & fead RIHA T

(A) fafsrm (B) TUTEA YW

(C) diE™ s (D) et
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20.

20.

20.

20.

20.

Which of the following has the NITI Aayog replaced ?

(A) Competition Commission of India
(B) Staff Selection Commission

(C) Union Public Service Commission
(

)
D) Planning Commission

S N ey

RS (@G 31w T S oae 391 (20T 2

(A) wives gt il
(B) TSI 6 St

Q) U ENFERI SIS
(D) sif<=sl =CAel

TN (PG Fife et dfegivn FEeE 2
(A) wiRCen dfecifare! sicl

(B) FOIT 5 St

Q) (FUR ERFCRI S

(D) Carsm! Sl

RIS A S SRR NITI ST=T S ?
(A) HHEIA HiATH A® i<

(B) T THcThy™ ST

(C) i urfeeter wife siHeH

(D) Teaifa s

Hifa st 3 Freafafed § | fhaew wm fam g2
(A) R gfaeast ST

(B) SHHAR == AN

(C) HH ik Far &

(D)  SISHT SR
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21. Which of the following words is NOT in the Preamble of the Constitution of India ?

(A) Fraternity (B) Dignity (C©) Modesty (D) Liberty
21. RS @RG! * TiRed W[ LBRAS TR 2

(A) ©IPYElY (B) i () fem (D) el
21. S (@ =6 SRCST FRNE LABRAT (= 2

(A) =re¥ (B) © fem (D) Il
21. TREM 6 SRE YRA Sfafae TIwRAmETe =41 2

(A) Aty (B) HF-HTHN (C) TSR (D) Seif|
21. frafafed § § $H-9 758 Ra & Sfaer w gwae § 11 82

(A) == (B) IR (C) Tormman (D) E&dH
22. Ali Aye Ligang is a festival of which community ?

(A) Khamti (B) Mishing (€) Karbi (D) Dimasa
22, SIfe] SIS AN (PN TRMRE BT 2

(A) S (B) i ©) =R (D) ol
22. RIS el (I MM G 2

(A) < (B) fifb< ©) =R (D) TGP
22, a7ift oy et s« g ®ra 2

(A) wmMfd (B) Tf& (C) hifsl (D) fewmEn
22, el U forTi fohe wHe™ &1 @R § 2

(A) it (B) faf¥im (C) il (D) fewmEn
23. What was the former name of Karbi Anglong district ?

(A) Mikir Hills district (B) Lushai Hills district

(C) Cachar Hills district (D) West Naga Hills district
23, FIR iR E@e o7 O & wifeet 2

(A) fifes sifes =i (B) iR Ay fEet

(C) JIRF e fee (D) =ifess Tl SIS ferat
23. I SER (TR O A F e 2

(A) fife #iey ceenl (B) PR SISy (el

(C) I e (= (D) =if*5x il *iFey et
23. hifsl 31ie forent famit g1 a2

(A) THfRT feew e (B) qure feed e

(C) =R feed fSem (D) ErATs AT fEed fte
23. 1§l ST Sl o1 qd 8 S o ?

(A)  Tufert e foem (B) TG Uiy v

(C) SR Ty e (D) uf¥=m A ureied fSren
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24. Identify the southernmost river amongst the following :

(A) Indus River (B) Godavari River

(C) Brahmaputra River (D) Cauvery River
24, TIRMERS T2 771 SAGIROF TFEFC SRIZS T Hale 5 |

(A) Tl (B)  (oNWRST Wl

(C) Fme@ (D) oISt T
24. TACR SARSOR W&y (A A wfEwel e anl

(A) Ty w7 (B) C(WRST Wl

(C) g T (D) SIEE 7l
24. AR SIARTHALR SR A fam -

(A) Ty Tm (B) TR <

(C) SEg (D) et S
24. freAfafad 4 @ wo@ gfoll 7€t =it ve=E |

(A) foy = (B) Tierardt 7t

(ORIl (D) FAG &
25.  Which country is known as the “Cockpit of Europe” ?

(A) Switzerland (B) Belgium (C) Spain (D) Portugal
25. TR (@i (I TR A sl Gl T 2

(A) RIECTY (B) (e (C) iz (D) “gsile
25. SIOK (I (P “TCRICHH ST e Tl 2

(A) @R (B) (e (C) iz (D)  cAgalat
25. 99 TeX@I ‘33U heRdie ! FAE fafer 2

(A) FEEIES (B) rfsrm (€ = (D) W
25. fohd <91 1 ' GIT HT Fihiue’ gl Sl T 7

(A) Fegreds (B) sifestam (GEE (D) Y
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26. The Upper House of the Parliament of India is called :
(A) Lok Sabha (B) Rajya Sabha (C) Vidhan Sabha (D) Vidhan Parishad

26. IOME T WP (PRI 2T 8
(A) @ISl (B) SrepTel (C) R 1ol (D) R sifsam

26. SRS AAWR COHFH(P 67 2 2
(A) @RSl (B) lEmrel (C) R 1@ (D) RF ifaw

26. 9RAf FEEH TS HET@! A7 S SR 2
(A) d'w' g (B) TSI G (C) faum &« (D) forum aftwg

26. THS % UL WS I Hel S ¢ :
(A) TR 99 (B) T |l (C) faum & (D) faum aftwg

27. Which of the following countries does Assam share international border with ?

(A) Thailand (B) Bhutan (C) China (D) Nepal
27. FRERS @ O TS SN SR TN SIS Il i ?

(A) 2ECEY (B) oM (©) M (D) =
27. TR TERS @ (R T ST SIS o STIIE ST 2

(A) 2rEEmle (B) oM (©) M (D) A=
27. 9 BICTSH AT SIS fan Tam ?

(A) emEer (B) HaH (€ == (D) 9Tt
27. /M Fefafad ¥ 9 fhe <91 & W sTaRisa T 9 i ¢ 2

(A) uEets (B) e (€) = (D)

28. Who was the first President of the United States of America ?
(A) George Washington (B) Abraham Lincoln
(C) Thomas Jefferson (D) Benjamin Franklin

28. SN TSI 4N AGolfe (i wIifeet 2
(A) o A5 (B) IR fereaw
(C) AR (T (D) @&IRN e
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28. WIRFN T 22w AFATS (& feew 2

(A) & eTGT (B) IR foraw

(C) AT (ST (D) @I FElw
28. ST SEerel Ffeie SRRATRE |IH ?

(A) S of¥ie (B) TSI feieh

(C) oHE STHHA (D) SI=TTHA Shehfer
28. HIF TH STHIHT & gUq Tegufd HiF & 2

(A) TS af¥ires (B) 3TomeH feiehd

(C) oT9" SFEA (D) S Thenfem
29. How many countries does India share land borders with ?

(A) Six (B) Seven (C) Eight (D) Nine
29. OINOIE (FEI (I Fe I I T 2

(a) = (B) e © =1 (D) 7
29. FOMH (M AT SIS T A NG ACACE ?

(A) = (B) e (©) =b (D) =
29. R HITSY BIETSl BT e T ?

(A) HHET (B) WA TH (C) =M A (D) HHET
29. 9RA fohe SN o T Tl SHT S Il © 2

(a) B;® (B) = © o (D)
30. Who was the first Vice Chancellor of Gauhati University ?

(A) Nabin Chandra Bordoloi (B) Gopinath Bordoloi

(C) Kamalakanta Bhattacharyya (D) Krishnakanta Handique
30. @AIRIG! Refmpierara Lwa RIS T (i wifee 2

(A) I 5" I (B)  (alloTieIel Tqwes

(C) TR SHIGIT (D) FIIE AUCS
30. (TR RefmiEes 22w THbR & e

(A) 9 v IS (B)  CaNsTimiel qamcet

(C) ITARRE STHR (D) FAI@AWE
30. TERE gt ffeafe aem fifea 9rem ?

(A) A =g s’ (B) I SRS

(C) ¥R W= (D) FHOH <k
30. TETRR! favafamre™ & qem Ferdfd S 9 2

(A) T =% SR (B) T SRS

(C) FHATRIG Wgr=r (D) FWERIA Sfeh
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31. Which kingdom of India had influence extended to Southeast Asian region ?

(A) Chauhan (B) Rajput (C) Gupta (D) Chola
31. SRS (@FHL AFCH AR nfHro-27 el Sixesice] Rge c2fee

(A) 1S (B) S@vf© C) <d¥ (D) ool
31. W79 SI%TE SRCSH (T AT AOR TS 23fes 2

(A) BT (B) Freefe ©) wvg (D) oW
31. YRAM I TSRl WS- T St Mem SRge! gM el M ?

(A) T (B) IS (©) T (D) =
31. ¥Rd & o\ THT & 99 Sf0-qd TREE &5 q o1 ?

(VI (B) ST © T« (D) =
32. “Gobha Raja” is the titular king of which community ?

(A) Ahom (B) Mishing (€) Khamti (D) Tiwa
32. “olrel q@” (P AR Sl @l 2

(A) =M (B) fif (C) 4fe (D) fe=
32. OOl G (I TRV TG el 2

(A) SIS (B) fufoe (C) 2= (D) fox
32. ‘7w O A S B HITEd’ O™ OS2

(A) smEH (B) fafd (C) Gmfd (D) fem
32. ‘i T TR R ST AR ST R 2

(A) e©m (B) fafwim (©) Tt (D) fefer
33. McMahon line separates which two countries ?

(A) Afghanistan and Pakistan (B) Myanmar and Bangladesh

(C) India and China (D) Vietnam and Thailand
33. GRS NI (I 72 (R 72 I 2

(A)  SIFAAEZR o= 2NRFg (B) SR S ARG
(C) S o= b (D) TSRHAN = NBrETe
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33.

33.

33.

SIRFRE SR (I 9o (IS Sieiv S0 2

(A) SIS G} AAfREe (B) SIS &% JILETICH=]
(C) RS 9k HW (D) forrea™ @3 AZeme

Terte faamn e grethRE! sramE! ?

(A)  SAEMEN ST qfRE (B) TR SR SicAlay

(C) ¥Rd T =T (D) P o omEere

TeRATEA @1 T 2 T 1 3T Ll § 2

(A)  AHMEN TR uiferear (B) R iR Fi@Rw
(C) Rd IR == (D) faaaTm iR ordels

34.

34.

34.

34.

34.

Alexander (the Great) was from which ancient kingdom ?
(A) Persia (B) Byzantine (C) Macedonia

AU (L B ASTT SifeE 2
(A) 5w (o)  (B) Reifew (C) e

IERFEISR (TF) (F 25 A =™ 2
(A) 2 (B) IZCeroizd ) cbrelfa

FAFSTR (7 U2) 31 M) M o« BT+ ?
(A) URYF T (B) fasmfed (C) T T

e (veM) Ty 9= 9usa 9 o1 ?
(A) wRE (B) sirsii-eA (C) WIS

Ottoman

oI

F'TgH

35.

35.

35.

Which dynasty ruled the longest in ancient Assam region ?
(A) The Ahoms (B) The Barmans (C) The Koch

AT ST e (i A2 16 Tt =0 SR 2
(A) e (B) M C) &b

(I S 2B ST ST TS 73T *[7e FCAZeT 2

e

(A) e (B) Q)
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35. 9 qShIC ST HAFHCTe T e JT Qiemaid ?
(A) TEHBR (B) SHABR (C) FABR (D) HfrEmeR
35. U 3T &3 § ford USew 7 wel 1y 99d e e fohan ?
(A) 3Em (B) oA (C) == (D) gfen
36. What is the introduction to Constitution of India called ?
(A) The Preamble (B) The Preface
(C) The Introduction (D) The First Page
36. OO MR TN S+ [ I i =W 2
(A) =B (B) SIl9IRl
(C) #fwa (D) =% 7B
36. ORIOA AR G | 60 &7 2
(A) =TR (B) Y=
© e (D) 2= 7
36. WNaf HiafSe TEwRARERE! A e ?
(A) G B (B) HHIAA
(C) TIBRAE (D) 4fy foems
36. 9RA % HfGHM 1 fHehT Sl FAT FEAT ¢ ?
(A) TETEA (B) Ui
(©) 1w (D) el T
37. Which mountain range passes through Delhi, Haryana, Rajasthan and Gujarat ?
(A) Shivalik range (B) Borail range
(C) Satpura range (D) Aravalli range
37. (FICH! ~ioletl frall, RIRTIATI, Srergie o @it ST #1707 ColCR 2
(A) fFaifere s (B) Jizal sl
(C) A7l R (D) SRR e
37. (IR Aol fafa, 2, Az g SERIe W ey (o 2

(A) FRifes sifer=dt (B) =iZel “dorTl
(C) A7l A= (D) SIRRE! ARFor=at
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37. TIRME BHE &6l g1 Wik feeett, SR, TSE™ TR TSRIaS! aRaiS! ?

(A)  Trenferes srsim |l (B) TIZA TIeiHl WIR

(C) EEqU BSIH | (D) ST BISTHT ETi
37. H-H yaq S@e foeet, gRamn, TS SR TR | S TeRdl © 2

(A) ferenfas geqHTen (B) kel TelaHTeH

(C) HaYe! yadHTet (D) S JeldHTe
38. Which of the following Muslim commanders did Mula Gabharu fight with ?

(A) Mir Quasim (B) Turbak (C) Itutmish (D) Abeidullah
38. TRFIRS (e YT CHIZIeT [RETF o e J7 NI 2

(a) for o (B) T O TTghm (D) R
38. IGA (I PRV CIoTR 05 Yol ST J7 IFAMRCE 2

(&) T (B) ¥ (©) gl (D) TR
38. Ho MH'E 91 MRAMN HR WY GHAHM HHEYATRES 6] ASTHA ?

(A) o =mirem (B) (©) FAgTHr (D) 3agER
38. el MY A f=fafed # 9 fhd qEaHE SAMd 9 TSR i 2

(A) R e (B) T+ (C) segar (D) Sergeat
39. Which of the following is not a criterion for citizenship of India ?

(A) Acquisition of Territory (B) Buying property

(C) Naturalization (D) Descent
39. fRfERS Az (@0 OiRed A MewlS w7 2

(A) of wifdaz (B) Tife @

(C) Rplorael (D) IHE
39. TIHA (FINM SRS TofRFCe Tewes 7 2

(A) T Sl (B) Tife @

(C) HrerFieae (D) <[
39. YR ARTRIREY A1 TR sei M= TST ?

(A) TAM ARFSHE (B) I UHG(A AN

(C)  ErfEn A (D) TR
39. frmfafed § & M 91 YR i AR HT HHEES Tél § 2

(A) & SR (B) Hufd T

(C) WTHfdHHT (D) =t
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40. What is the main component of a glacier ?
(A) Lava (B) Salt water (C) Ice (D) Rain forest
40. ToRIET A4 o 6 2
(A) el (B) AR T& Q) == (D) F=el
40. R L G F 2
(A) el (B) FREG T& Q) =T (D) R
40. SRS RIS Tfegarn 1 ?
(A) @ (B) wE3? (C) =R® (D) 3T& 3TA
40. AR I TA TF AT ?
(A) o (B) @ UMl (C) % (D) a9 o=
41, Findmif 20 X2 X270 _on
2—5
(A) 5 (B) 3 ©) 8 (D) 7
41, @ 2% 265X 2 _ 12 (o8 m T W fE e 39
>~
(A) 5 (B) 3 © 8 (D) 7
41, mfemmam 20 X2 X270
2—5
(A) 5 (B) 3 ©) 8 D) 7
41. m@ﬁ@ﬁ& oM 26 5 74 _ol2
=5
(A) 5 (B) 3 ©) 8 D) 7
41. =g 2 X 265X 27 1 A mam i
=
(A) 5 (B) 3 © 8 (D) 7

Paper-1/ B 20



42, (x2-3x—4)+(x+1)="? (x#-1)
(A) x—4 (B) x-3 <G x-2 (D) x-1

42, (x2-3x—4)+(x+1)="? (x#-1)
(A) x—4 (B) x-3 <G x-2 (D) x-1

42, (x®>-3x—4)+(x+1)=? (x#—1)

(A) x—4 (B) x-3 Q) x-2 (D) x-1
42. (x®>-3x—4)+(x+1)=? (x#=-1)

(A) x—4 (B) x-3 Q) x-2 (D) x-1

42. (x*>-3x—4)+(x+1)=? (x#=-1)
(A) x—4 (B) x-3 Q) «x-2 (D) x-1

43. The fractional form of the recurring number 5.121212 .. .is:

-4 b 57 o 57 -

43, (Tl 4Tl 5.121212 . . . T S FAT! (2R ¢

N 5 517 o 57 .-
@A) "9 ® 9 © 5 P) 99
43. WI@\D AR 5121212 . . . O@F SURIEK T ¢

N 5 517 o 57 .-

B "5 ® 99 © 5 P) 99
43. SEATHAAE ARMHE 5.121212 . . . [ s@eE@r< 98l -

N 5 517 o 57 .-

B "5 ® 9 © 5 ®) 99
43. et €A1 5.121212 . . . 1 fu=Icdes ®9 ©

N 5 517 o 57 .-

B 50 ® 9 © 5 ®) 99
44. 40% of 60 when added to 60% of 40 would result in :

(A) 40 (B) 48 (C) 60 (D) 64
44. 603 40% F 0O 40 T 60% (5! FRCE TP =F ¢

(A) 40 (B) 48 (C) 60 (D) 64
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44. 60 99 40% 499 AN 40 €9 60% 9] FACST TP (S 2
(A) 40 (B) 48 (C) 60 (D) 64
44. 607 40% &t 40 T7 60% ST reTereeT S
(A) 40 (B) 48 (C) 60 (D) 64
44. 60 H T 40% 40 H T 60% H e T aRkong 9t &rm :
(A) 40 (B) 48 (C) 60 (D) 64
45. If mis a digit and the number 46 m 23 is divisible by 9, then the digit m is equal to :
(A) 1 (B) 0 © 5 (D) 3
45. AWM m AwfeT GO ST T W% 46 m 23 AAICH! 9 (3 oSy 24, (90T m I M 7 27 ¢
(A) 1 (B) 0 © 5 (D) 3
45. AWM m *&fod G0 O&F R G 46 m 23 TR 9 A [Keley 27, O m & 7 ¢
(A) 1 (B) 0 © 5 (D) 3
45. S m 3T 9FE AN TR 46 m 23 SHSHET 9 i TSR, STl o SHSHET e -
(A) 1 (B) 0 © 5 (D) 3
45. AT m TH JUICH 1 Tk 3% § IR F&A 46 m 23,9 § fa9sa 8, @ 31eh m TR T :
(A) 1 (B) 0 © 5 (D) 3
46. The sum of the present age of the father and the son is 60 years. After 15 years, the father’s age
will be twice that of the son. The present age of the son is :
(A) 10 years (B) 25 years (©) 18 years (D) 15 years
46. oI B9 29 IO IR (ITE 60 TF | 15 71 9120 {7 I391 7j@d Io19 7@l 29| 7jg9 TS I
[EE
(A) 10 9= (B) 257 (C) 187 (D) 153
46. 5O #{1a TSN IR (DT 60 I | 15 IR 17 O 379 {702 IR 726 T | 2[00 TSN 7
EG i
(A) 10<= (B) 257= (C) 183 (D) 153
46. oTfermETend faw TR Rt SEif SSTEEET 60 SER |1 15 SERM 3 faw Seen frasent
A ST | STITRETeTS Rt et sr&e ?
(A) 10 SR (B) 25 @GR (C) 18 9K (D) 15 dER
46. a1 3R T 1 IAHM ST 1AM 60 T8 § | 15 T8 oG a1 bt 311 A i 11 ¥ S &Rf | I3 i adm™

g T
(A) 10 94 (B) 25N (C) 18 9 (D) 15 9§
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47. If the Minute hand of a clock traverses an angle of 180°, the angle traversed by the Hour hand
during the time is :
(A) 20° (B) 5° (C) 10° (D) 15°
47. I TG! G5 TG F0! T 180° (el AOF FF, (ST T ANTS B Fb] ©ICsT OGS 1 (el
[EeE
(A) 20° (B) 5° (C) 10° (D) 15°
47. I 9% =l WG 61 180° (Il SO B0, O G TR (K I SO Bl S w1 (loifo
7@ S
(A) 20° (B) 5° (C) 10° (D) 15°
47. =S fafte smaEnfemn i 180° @1 STERTEN, Sl T2 o HHE J9el @ |1 ST ?
(A) 20° (B) 5° (C) 10° (D) 15°
47. afc foreh =St ot fiAe Y g2 180° 1 IV FeAd B, A1 SH SR w i g §RI M= 41 FIV ¥
(A) 20° (B) 5° (C) 10° (D) 15°
48. The remainder when 2° is divided by 5 is :
(A) 0 (B) 6 ©) 2 (D) 4
48. 2095 (I 299 ST A O 2 2
(A) 0 (B) 6 © 2 (D) 4
48. 20 (F 5 Tl Bl T ST AT ¢
(A) 0 (B) 6 ©) 2 (D) 4
48. 20 5 S TSl AR TG ST
(A) 0 (B) 6 © 2 (D) 4
48. o 20 w1 59 fawifeq foran &, O 99%a B €
(A) 0 (B) 6 ©) 2 (D) 4
49. Let all the months of a year is of 28 days. If January 1 falls on a Monday, then April 28 will fall
ona:
(A) Friday (B) Sunday (C©) Monday (D) Saturday
49. R @RI T @ 9ol I=9 TR N2 28 e Y& = | IW 1 GRS Mol EINRE 7, (90 28 Wit

ROESE
(A) ST (B) IRAF Q) IR (D) ===
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49. &I IYRT AR AN 28 e | M 1 SRR GIRIRK 27 O 28 G 73 ¢

(A) ST (B) @ (C) @IEE (D) ===
49. THAM &1 S SR MHE SR 28 WEA’ A9RT S 1 STHaR@nd SR Trerdr oTae, 28 Theanta m

S ?

(A) FHR (B) eEX (C) FHaR (D) ¥R
49. 9 U 99 F @t wfed 28 feA i & B ¥ 1 Afg 1 S Rl AR Iedn €, O 28 ST @ IS

(A) YHaR (B) e (C) HMaR (D) wffemr
50. The diagonal of a square is 10 cm. The area of the square is :

(A) 100 cm? (B) 50 cm? (C) 64 cm? (D) 48 cm?
50. @i 39fq 9 (E14 10 (5.3 | 3G Faweet Tz ¢

(A) 100 ¢5.fi.2 (B) 50 (.fa.2 (C) 64 v.fi2 (D) 48 (5.2
50. @35 (e 9 10 @A | Iefcwafte Fifer =1 ¢

(A) 100 L2 (B) 50 @12 (C) 64 @12 (D) 48 @12
50. WY I @ EEsT 10 9.4, | o it wifern -

(A) 100 9.f1.2 (B) 50 &.fa.2 (C) 64 9.2 (D) 48 ©.fa2
50. U ot o1 faenuf 10 It §1 ot o SR

(A) 100 G2 (B) 50 W2 (C) 64 THR2 (D) 48 |HR2
51. (—1)>+(—1)° equals :

(A) 1 B) -1 © 0 D) -11
51.  (—1)°+(—1)° 3 1 (207 3

A 1 B) -1 C 0 D) -11
51. (—1)°+(—1)° & I ¢

A 1 B) -1 C 0 D) -11
51. (—1)°+(—1)° 7 & feg -

A 1 B) -1 © 0 D) -11
51. (—1)°+(—1)0 1 T9H ¥ :

(A) 1 B) -1 @ 0 (D) —11
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52.

52.

52.

52.

52.

The sum of the odd numbers 1, 3,5, .. ... upto 15 terms is :
(A) 225 (B) 125 (©) 169 (D) 196

SRP RN 1, 3,5, ... .. T15 51 2IMCa1 Yo (RN (20T 2
(A) 225 (B) 125 C) 169 (D) 196

oY ARA 1, 3,5, ... .. 15 f6 7% <@ (A5 FACET (AT A ¢
(A) 225 (B) 125 (C) 169 (D) 196

o SRS 1, 3, 5, . . . 15 faeme famfa grsremdan -
(A) 225 (B) 125 C) 169 (D) 196

1,3,5,..... amife foom Hemsdi &1 15 e a% 1 I ¢
(A) 225 (B) 125 (C) 169 (D) 196

53.

53.

53.

53.

53.

The LCM and HCF of two numbers are 24 and 4 respectively. If one of the numbers is 12, then the
other number is :

(A) 20 (B) 8 (C) 10 (D) 6

VB! AL SN SIS JAGC 24 < 4. HRLJIEIF O] AM 12 2 (ST ST AL 24 ¢
(A) 20 (B) 8 (C) 10 (D) 6

qis AR FALG. GRR 5N.G. I 24 QR 4. G A2} 12 201 S A 2

(A) 20 (B) 8 (C) 10 (D) 6
T SRR .3TLHLL STRI .STLHL 31 IR 24 3T 4 | S[fe STISTHI HIFH=T 12, TEA STHSHRT -
(A) 20 (B) 8 (C) 10 (D) 6

T Hemstl 1 THTH IHa IR STH HHIYEdS ShAS: 24 3R 4 ¥ 1 AfE T e 12 %, @ g e
g
(A) 20 (B) 8 (C) 10 (D) 6

54.

54.

The square of a smaller number is subtracted from the square of a larger number and the result is
equal to the difference of the larger and the smaller number. The sum of the two numbers is :

(A) 0 B 3 © 1 (D) 2

CRRIT! UGB! AR TIGACHIF I9(F 10 AILCHIF 917 T RCist FIRCeT Toizeet 727 WO 21 e = | FR2
VoI 9T (207 ¢

1

(A) 0 (B) © 1 (D) 2
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54. @3> I2E IR 9 (ACF SRS Foed HIR 9 R0 I 2 3R FeNA0 J2EF IR FAOA IR
AL I AT T | A 967 @9 25 ¢
1
(A) 0 ® 5 © 1 (D) 2
54. WY IR AT SifTwhm A4 frerfed sHfsi srfel gme ‘s, foft S o e o/ fee
SAfSHAI Wl T 1 o JE S ST
1
(A) 0 B 3 © 1 (D) 2
54. o=l < demst § A SIS Tem &1 o SISl G & 97 9 HeEn Wl § IR ufemd SHi wensti & iR &
TR BT 2 | QAT st A
1
(A) 0 B 3 © 1 (D) 2
55. Addition of two Roman numbers XIV +1V equals :
(A) XXV (B) XVIII (©) XIX (D) XX
55. YOI (AN A (@91zwe XIV + 1V (202 8
(A) XXV (B) XVIII (C) XIX (D) XX
55. 7o @S AL XIV + 1V @3 (9% ¢
(A) XXV (B) XVIII (C) XIX (D) XX
55. T WM SHSE XIV + IV Bl IS8 71 /A ?
(A) XXV (B) XVIII (©) XIX (D) XX
55. T UAA Hest & A XIV 41V E :
(A) XXV (B) XVIII (C) XIX (D) XX
56. A garden has p numbers of trees. Every tree has q number of branches, every branch has r number
of sub-branches and every sub-branch has s number of leaves. The total number of leaves in the
garden is :
(A) ptqtr+ts (B) pq+trs (€) pgr+s (D) pqrs
56. (I @2 MRS p (Sl R SAR| Aol TS q A *, ATSH! *1AS r AT o1l SN
ATSTO! ToMIIIS s FRAF 2I1S =7ifal TR | AfIRATS A 7Y #11eF T2 (2= 2
(A) ptqtr+s (B) pq+trs (€) pgr+s (D) pqrs
56. (0 ANE p AT M2 A1 2O AT q AL *14 TRC, 2ATOT =N ¢ AT GoFl TR0 G7Q

Ao ToMIAE s TS Al ICACR| 9N G “iFoF A2 24 ¢
(A) p+q+r+s (B) pq-+trs (€) pqr+s (D) pqrs
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56. HHY foemenfe o p % S| SR SHIETE T | SIS <, SITE A% 376 HiH r <3 fmer € e
HHARHE! s TREEmE T s faa €1 o faemeaEms med fawms < ?
(A) ptqtr+s (B) pq-+trs (C) pgr+s (D) pqrs
56. Tk s § U ot e p ¥ | TS U § ol i G q Bl €, Y e § U9 i G « At
g IR g Iueman H uftEl % §E s Bt § | i H ufhdl e 9en i
(A) ptqtr+s (B) pq-+trs (C) pgr+s (D) pqrs
57. The value of /1849 is:
(A) 33 (B) 43 (C) 53 (D) 63
57. /1849 I N4 (X(Z ¢
(A) 33 (B) 43 (C) 53 (D) 63
57. /1849 €< W« 2% ¢
(A) 33 (B) 43 (C) 53 (D) 63
57. /1849 7 @M -
(A) 33 (B) 43 (C) 53 (D) 63
57. /1849 HIHHT:
(A) 33 (B) 43 (C) 53 (D) 63
58. The sum of any two integers is :

58.

(A) always a non-zero positive integer.
(B) always a non-zero negative integer.
(C
(

) always either a non-zero positive or a non-zero negative integer.
D) always either a non-zero positive, a non-zero negative integer or 0.

RICRICT U1 S=ie SR (91 ¢

A) R GBI S GISRE S AL 2 |

SR B! ST YT S Fe2] 29 |

C) M G S LIEF LA GF YIF TS AR 2 |

D) WA G S LG, G S AN T2 ALY LA 0 T |

B

~

(
(
(
(
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58. (X GG 9o {oPR4R CAl9rFet ¢
(A) % GFH ST GG o) |
(B) Wl GG SI-*[eTy HeNSF el |
(C) %I 27 (6 T-X[e) LI Al S-H AT 7ol |
(D) IRl T GF6 T[] GG, G0 S el {72y A %7 |
58. STARGSTET HiFA W1’ SHSTHIN SIS
(A) SEcTEE! AIRE’ TS TS T S |
(B) SiecEEl ARG’ 7S TG o1 T SRS |
(C) SieaEs! AIfRE’ 7S TR TSTel @’ 98 SFE o1 W' ST |
(D) SiEcTEal ARG’ 7S TASTa TSTed TNfed’ 8 M@ o1 W' SHfSH TR TSTeel g’ |
58. Tl <1 quifeni o1 31 :
(A) THIN Tk TR-I SHTHS UM Sl S|
(B) T T TR-I ThRIcHS qulieh Bl & |
(C) THIM A1 M TH TR-I AHH A1 Teh TR-I[F ThRIeTeh U7k 2Ial ¢ |
(D) THM A1 W T TR-F[ ¥AHS, Th IR THRIEH qUlich, 91 0 Bl B |
59. The total interest accrued on a Principal of I 1000 over 1 year at compound interest of 10% per
annum compounded 6 monthly, is :
(A) 105.20 (B) ¥ 102.20 (C) 10250 (D) ¥ 105.50
59. ofS 6 WTT T9© 5@]a 7T 251 R0 = 10% 5@ o1 T T 1000 JELE 1 I-9 ST Sl (2141 5[0
o #ffe (207 8
(A) 105.20 (B) ¥ 102.20 (C) 10250 (D) ¥ 105.50
59. 1 IR W& ERA T 1000 G THR AIART 10% b@gia 20 Al 6 W1 bagiate ARajEre Jord #Ife
=T 2
(A) 105.20 (B) ¥ 102.20 (C) 10250 (D) ¥ 105.50
59. 1000 T MG SERIN 10% BR 1 SERMH IREs™ g fogd, It aneem gegt 6 Sl @ -
(A) % 105.20 (B) ¥ 102.20 (C) 10250 (D) ¥ 105.50
59. HA¥F T 1000 W 198 H 10% fd o & <Ishgfg &A1 W 6 A skl AN e T 315 Fel AT

g

(A) T 105.20 (B) ¥ 102.20 (C) T 102.50 (D) ¥ 105.50
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60. Two numbers are in the ratio 3 : 4 and their sum equals 49. The two numbers are :
(A) 16, 33 (B) 18, 31 (C) 21,28 (D) 24,25

60.  (IIC 451 3T 3 : 4 SI2T0® (R < PrRoq (1972FeT (22 49 | FAN YOI T4 ¢
(A) 16, 33 (B) 18,31 (C) 21, 28 (D) 24,25

60. WG I 3 : 4 SFAITS BT IR SITR (91207 281 49, FR2! 16 297 2
(A) 16, 33 (B) 18, 31 (C) 21,28 (D) 24,25

60. HFA STARTHIN TAN 3 : 4 3R foER SSETE=T 49 | AT W= Sem -
(A) 16, 33 (B) 18,31 (C) 21, 28 (D) 24,25

60. T TS 3:4%F UM H & N SAR AM49T | A T € -
(A) 16, 33 (B) 18, 31 (C) 21,28 (D) 24,25

61. In a family, the sum of the present ages of the father, mother and the only son is x years. Aftery
years, the sum of their ages will be :
(A) 3x+y years (B) 3 (x+y)years (C) x+y years (D) x+3y years

61. <5 ARTIETS oIy, g ST GFNG 7G99 IO TPTIEI Y2 (9161 1 LT | y T2 9120 (O &I ROPTRI
o [@NTA LA 8
(A) Bx+y3I=F (B) 3 (x+y)I=R C) x+yI=R (D) x+3y3I=s

61. I AR GFGH oIl TSl G GG (G TS TR N9 x IR | y T2 217 Ol INER (H9Iee
EIGRS
(A) Bx+yI=H (B) 3 (x+y)I=R Q) x+y=A (D) x+3y3I=F

61. STfETEE HY 7 BRI fow, fomn o1 fRamant a5ist 919 x S8R |y SERM 3 fobr S6if
HECURRISICIRE
(A) 3x+y dER (B) 3 (x+y)dER (C) x+ydER (D) x+3y dER

61. T GRER H fiar, 7rn 3R shalld 9 i IaAM 3T T AT x T8 €1y T4 o o1%, STk 2T 1 AN B0
(A) Bx+y T (B) 3 (x+y)ad (C) x+y=d (D) x+3y a4

62. Sharp pointed teeth inside human mouth are called :
(A) Molars (B) Canines (C) Incisors (D) Premolars

62. W2 YIS [Co 4 (BIF, (Slel Mo (@Il 23 8
(A) (T e (B) (=FW© (C) JITwlre (D) AT wfe

62. IR Y(AF (TOCHA LI 75 WO <&l 83 8

(A) (7@ 7f® (B) (@ W© (C) T i (D) wiaiCsEe nio
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62.

62.

AEfEf GMiaeTe 9@ SER SR o1 g 2
(A) BRI B (B) THIEAA (C) @ FU™ (D) i &R Btem

T % g o 1S TRl <l ol shel ST ¢
(A) <ol (B) & (C) FHdsk (D) 3T =0

63.

63.

63.

63.

63.

Which country was involved with India in the Doklam incident of 2017 ?
(A) China (B) Afghanistan (C©) Bangladesh (D) Myanmar

2017 591 TN FYS ORI (00 (Fee (7 S SNifee 2
(A) BN (B) Salifmie (C) IETITH=l (D) TR

2017 AER (IFEAN ToeNT ©RCOF A3 (Fie (74 To© =6 2
(A) (B) SIS (C) eIl (D) SRR

2017 TS SHhal™ STUTEE o9 8 TSl GCSTTTHRISTE A 2
(A) = (B)  SATHMIEM (C) didew (D) AR

2017 H Srehel™ S H YA & 919 shi9 |1 <9 e o1 ?
(A) =M (B) STHTEMA (C) divere™ (D) TIMAR

64.

64.

64.

64.

64.

In Assamese literature, who is known as “Ekhud Kokaideu” ?

(A) Nabakanta Baruah (B) Medini Mohan Choudhury
(€©) Kumud Chandra Hazarika (D) Kamalakanta Bhattacharyya
ST ARGTS “@gv FREME” TNE FIF Gl AT 2

(A) TG 71 (B) (el Gz (b1

©) T o™ Y (D) FEIHIE SBHI

SRTRI AT (F “agw FHRRMG” IC Ao 2

(A) TG I (B) (el Gz (H1&AT

(C) TIbw e (D) ITARRE SHHI

AT YAegeTd HRE! ' TES & 'HEed | A Hie 2

(A)  TIH TEAT (B) Hfe wed =

(C) FHE o= & T (D) AR g

srafren aifecr ® ' wEE Ferees’ & AW 9 R S ST €2

(A) TeRid T (B) HfeHt Hiew =erd

(C) FHS == Bl (D) AT e
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65. Who conferred the title of Kalaguru to Bishnu Prasad Rabha ?
(A) Rabindranath Tagore (B) Bishnuram Medhi
(C) Subhas Chandra Bose (D) Sarvapalli Radhakrishnan
65. e Aol Faies SHlfd @I emi SR 2
(A) ™I 1P (B) fRga cafy
(C) ToRbvH ] (D) AT TR
65. e 2P eI Tl Solfd (& Moafee ¢
(A) I S (B) e cwfa
(©) Tervm ] (D) AT e
65. ‘‘wemre’’ for B faey yoe qum |R s ?
(A) oz ey e (B) feromre Afe
(C) | =5 99 (D) Helucall THTHE
65. TSI THIE AT Sl HAWE i UMY fope ¥ 2
(A) T TR (B)  feroum Hedt
(C) vy =g oY (D) Heqeell YHHIH
66. Which of the following places of interest has been recently included in UNESCO World Heritage
(SX(; LICSZLZraideo Moidams (B) Batadrava Than
(C) Poa Mecca (D) Sonai Rupai Wildlife Sanctuary
66. WIS @G T e HITOINE 2SERR o @fexy (Faq Oife e SFee 41 (202 ?
(A) BRIZWS G (B) <5l AW
Q) ColRl = (D)  GoNE FAlZ eIt Sre=el
66. RHIRS TR FFR T @R TS TeEmeE [y AfeTRIR BeR ST TNve R ¢
(A) BAIZRS FAN (B) <GEl A
(C)  (or W= (D)  CTIIZ 12 Il Sree]
66. ATz M Aranir, fOREMR R FIRGAR 3RE (UNESCO) g1 SRl ST HiRelssTe e
EEIREE S [RUICIRSISEEIRAS
(A) =HEQE HaH (B) wZge oM
(C) d'dm Herh (D) |'E &R SRAR A grm
66. frefafed § & frg e Toret sl 2t & | A%k (UNESCO) forear forrerd Toret =it | snfher foran mn

g7
(A) RIS HigEH (B) Segdl UM

(C) I3 HeRhl (D) HHFE &R T=ISie FAHIARTY
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67.

67.

67.

67.

67.

In which field did Bhogeshwar Baruah excel ?
(A) Athletics (B) Swimming (C) Badminton (D) Football

(SIToM IRANZ (I CFIS AWM O e R 2
(A)  GLCEDH (B) AftoR Q) @fiDy (D) o=

CSIToME IF (I CFCG AR 2
(A)  STILCELH (B) Afer (C) TG (D) o=

YR FEAR §9 TIRMTE STRET-hRaTH ?

(A)  Tifaed (B) WHfEAM™ (C) dsfi=d (D) Gdad

ARTTeR =%eT A fohd &9 H I Youd fohan ?
(A) Tifead (B) Rt (C) wefied (D) Teaid

68.

68.

68.

68.

As on 15t of January, 2024, who holds the portfolio for External Affairs in Narendra Modi’s Council
of Ministers ?

(A) Dr. Subrahmanyam Jaishankar

(B) Smt. Nirmala Sitharaman

(C) Smt. Smriti Zubin Irani

(D) Shri Kiren Rijiju

2024 59 1 & SRS ANCACE " (I @1 sifFqwe [@iE 2I_REwq 7ed 9 oo TS IR ?
(A) o AN ST

(B) &AITS! s o

(© TS g T

(D) & feeaw fafergg

2024 & 1 &1 SRR AICATH " (N NG| AR @i R v wikiey @ o 2
(A) T T T

(B) &S| 5@l Srorase

(©) @S e gl Zf

(D) & ez Riferg

2024 A 1 AR WfArad T Jiel 9i-3 SATREHEE Sesl g5 gt feer R S ?
(A) T YIRIIH SR

(B) iwcit foefen Hiarmo

(©) et wfa fert st

(D) &t =ia RSy

)
)

)
)

)
)
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68. 1 Sal, 2024 T g Higr i AuReg # foow dred 1 Y9R foras 99 § 2

(A) Sl Go=Ivay STt

(B)  iwcht foefen diarmm

(C) et wyfer Sffe ot

(D) #t fooa RS
69. Which of the following Novels was written by Kanchan Borooah ?

(A) Mrityunjoy (B) Oximot Jaar Heral Xima

(C) Ontorip (D) Asol Manuh
69. RS (@2 TN Fiee 913 o1 SR 2

(A) TG (B) SPIITS AF (20 I

(C) R (D) IBeT TR
69. WIHF I TATAD Fivew Fzew! forrce 2

(A) oG (B) RIS Fid (e STl

(C) I (D) IbeT TR
69. TEMEM 59 Tl HIE! i T%ardl feadie ?

(A) I (B) 31f&Hd ST 30et fam

(©) erfy (D) 3Tl HIE
69. Tr=fafad # 9 HE-91 U shed o%sT gR1 foran = o ?

(A) HHG5E (B) THMd S 3O HH

(C) ofadu (D) 379 HIE
70. Which country is known as the “Land of Rising Sun” ?

(A) China (B) Japan (C) New Zealand (D) Indonesia
70. (PR (O TR ST O ol S 2

(A) B (B) T (C) fefersre (D) it
70. (I et TR o ol Ace wAffoe 2

(A) B (B) i (C) oTEemie (D) BCWICET
70. 99 BIEL@! I STHAE BeY’ B ST ?

(A) =M (B) SITUH C) f=foere (D) 3= fE=n
70. a9 A RS At W F AW Y S S S 2

(A) (B) ™ (C) gsicis (D) ESmfer
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71. Ason 15t of January, 2022, which of the following is NOT a (administrative) Division of Assam ?
(A) Lower Assam (B) Barak Valley
(C) Hills and Central Assam (D) West Assam
71. 2022399 11 SRIS] ACATE WRHIRS (FEG!SP™E (HHNF) ARG T2 ?
(A) S ST (B) I Lol
(C) ey @ &y =ET (D) =I5 =TS
71. IR (NG 2022 €F 1 SERST ACATE SPICR (2HTF) FRAST T 2
(A) = (B) IS Cowl
(C) ey @ &y SET (D) =I5 =T
71. 2022 HEAEM 1 STaR! GIfA%wE TEEE se STEH (Gersa) R T
(A) TR HAEH (B) oIk W
(C) oSl SR TSR SArEH (D) HIFTE TE™
71. 1 SR, 2022 & Frfafed § § S 91 o799 F1 (FRmEH) T9E @ 8 2
(A)  Tere eEH (B) I =Rl
(C) weIfEal iR weA 3r|H (D) g stEm
72.  Which of the following countries is NOT a permanent member of the United Nations Security
Council ?
(A) France (B) China
(C) India (D) United States of America
72. RS (@ o AgFER aisiel siftaws 2w e 2
(A) &= (B) oM
(C) wike (D) S Ielg
72.  NGA @ it Tiferkead el siffama =i e a9 ¢
(A) =™ (B) oM
C) ©F (D) R ge=1R
72. TR B o6l TG T8 T Y@1Y SRR SH WarH 7T ?
(A) W (B) =M
(C) R4 (D) AR ST BT
72. frefafed § 9 S 91 <% S T GUa qRug 1 SRl 9ae TE ¢ 2
(A) WhiE (B) =M
(C) R4 (D) Hg T ST

Paper-1/ B 34



73.  Which of the following is a non-renewable source of energy ?

(A) Wind power (B) Hydropower (C) Solar energy (D) Fossil fuel
73. RIS Mg (@R e SRTimeie) T ¢

(A) g (B) werfE (©) TTfe (D) G T
73. WA (NG SRR <G T 2

(A) Y& (B) weERgefes  (C) cmRfE (D) RPN it
73. RN Je= Al RIHST G ?

(A) @R - sel (B) - @l (C) ¥ wife (D)  sriferg i
73. frafafed § & ®F-W e & R-Feei J[ 22

(A)  TEH St (B) w1 fora (C) TR (D) Sfamed gud
74. The first modern Olympic Games was held in :

(A) Athens (B) Paris (C) London (D) Berlin
74. 2 WYF AAT (457 F© SRS C2feET 2

(A) @™ (B) (vfm (C) @ew (D) aIfetq
74. @A SiYfF SfefeE Gl S =3 ¢

(A) @ (B) onife™ (C) @ew (D) aIfefq
74. eteEret Fieies o1 foftues s sl ST 2

(a) T (B) R (©) @wed (D) et
74. FOM MY AcfTn T el e fohd 7 & 2

(A) Td (B) uRw (C) e (D) @felq
75. The Ramcharitmanas was written by :

(A) Kabir (B) Veda Vyas

(C) Adi Shankaracharya (D) Tulsidas
75.  SINBTON o7 T GRS (202 3

(A) FR_ (B) @I
Q) i *izam (D) EPTmI
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75.  FINSEHONT (1 TieeH ¢

(A) W& (B) WA

(©) = =R (D) weFmE
75. THERGEAERRE HR ferAmeE 2

(A) HIR (B) o &M

(C) smfs wet=md (D) qafde™
75.  HERGEE T4 feran & o -

(A) HIR (B) o =M

(C) 3mfe e (D) qerdie™
76. Sunlight helps in producing which Vitamin in a human body ?

(A) Vitamin C (B) Vitamin B (C) Vitamin D (D) Vitamin A
76. S (AR AT O (@R [SHIRR Terivae 7gE I 2

(A) B C (B) febIfE B (C) feBifim D (D) feBiftEm A
76. IR S AFRICE (P [SHIfA ToT1 Fa0e AL I 2

(A) feBifim C (B) T B (C) febifim D (D) feBifE A
76. HEMNAM g™ AFgeT 9« ferfaaet grfsE ?

(A) fqaf C (B) T9aify B (C) fwaf= D (D) f9arfT A
76. T 1 YT AME IRR H fory faerfia & Scured # Heg T §?

(A) faarf = C (B) foaerf = B (C) feaarf® = D (D) foaarf = A
77. Near which town is the Da Parbatia gate located ?

(A) Tinsukia (B) Tezpur (C) Silchar (D) Barpeta
77. (L 5D AN W LS (Ol SRIFS ?

(A) fofpsm (B) (o&7 (C) e (D) JCAAGI
77. W AKSHI G (FIN *IZEE P02 SRAAFS 2

(A) TR (B) (&7 (C) Tema (D) IR
77. &' Qe S@ A 96 ANRE @ifeEE | 2

(A)  fargfern (B) dSR (C) Taer=R (D) SR
77. < vdfaan i fore v & U feea 72

(A)  fargfen (B) dSR (C) Taer=R (D) SR
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78.

78.

78.

78.

78.

The national flag of which country features a dragon ?
(A) Bhutan (B) Singapore (C) Japan

(T (T ST AR (ol B =ICE 2

(A) ©oN (B) Taiss Q) AN
(B TR ISR 2[R Gloled B IR 2

(A) oM (B) P (©) w7
o B e 3 < 2

(A) Y (B) fomR (©) S
forg <o & U e W S 3ifed § 2

(A) e (B) fomR (©) S

Myanmar

RICRIE

79.

79.

79.

79.

Which of the following statements is incorrect ?

(A) Thomas Alva Edison was deaf.

(B) Apple is related to discovery of gravity.

(C) The brightest planet as seen from earth is Venus.
(D) The chemical symbol for sodium is Sd.

RS @G tfe e 2

(A) 2l SeTe] fh M e |

(B) el TR SIAFIRT TS ST T=F = |
Q) AT 7{ (wl SABRSF Teget AZ0H! S |
(D)

D) wfAnE e Bz 2z Sd |

THR (7 [t =g 2

(A) TurT TSl @fSo afed fogem |

(B)  SINCoET Siapiwesfel SIS AL 754 |
(C) @ 2JfAF} (AF (7l TR Tege 2% |
(D) ISR IR 261 21 Sd |

TS B 91 ferefer om -t 2
(A)  UHI STTHT TEEA T S |
(B) SIS HHHAT HIAHTTe STUe fhererT dHm € |
(C) Yo U o IEAMHE TeteFE safgs Siad g |
(

)
)

)
D) wfeamf TamatTen fafefomm sd |
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79. Trefafed § & HH-91 e e 72

(A) ofHg 3Tea Tfed ol 9 |

(B) U 1 HeY THRUT i @S ¥ T |

(C) 9ol § @1 S aTe Hor FHehien U8 Y ¢ |

(D) Hifeam &1 TEEAH Fdieh Sd T |
80. Which of the following is responsible for converting milk to curd ?

(A) Actinomyces (B) Lactobacillus  (C) Fusobacteriota (D) Malassezia
80. NATT M (51 Folgi<® 9 (Faro RIS (@FRRE Sl a4z 1 2

(A) «fSeNizdR (B) (FIFAMbeR (C) FIREIAGI (D) eieoier
80. +TITA (I HH(F MECO FMATIER o) W1 2

(A) SIfEENEP™  (B) SUGRIPER  (C) FENURGRES (D) Wi
80. TR B FeId] MEETE! MEEREREl SRl 2

(A) TwRAHEEE  (B) WRWEa™  (C) FHERIRE'T (D) S
80. T¥ I <& ¥ ser & foru fr=fafed § 9 o9 forier €2

(A) TRAWEEE  (B) wREfHed™ (C) wgHeRIfE (D) At
81. Rabindranath Tagore was awarded Nobel Prize in Literature for :

(A) Ghare Baire (B) Gitimalya (€) Gitanjali (D) Gora
81. (FINCH! FIoF AR I S 2O I 61 e Fifea 2

(A) FERIARE (B) Mooy (C) ereigfe (D) Cal
81. I I AT (e FFRI #© IR ([ 4207 & ¢

(A) TEARE (B) MfewieEy Q) Meigl (D) coliR
81. oY AT YACTSSTE Toe SFTE! |1 e 1 G 2

(A) =L (B) firferameran (C) TrarTedt (D) T
81. =AY TR i fohd i o faQ wife § Aoid AR 9§ FHATHG fohar T o ?

(A) R ST (B) TifaHrea (C) Tiarsifet

(D)

TR
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82. Origami is the art of paper folding that originated in :
(A) China (B) Korea (C) Japan Cambodia
82. Jlse el g el Wfelfg Tesife RGT oo t2fee ¢
(A) B (B) (ifezl (C) @lsE
82. SIS = «=5fG ol wier ey FIK Tewifie zeafest ¢
(A) B (B) cifwl (C) @il
82. AN - IEmH e o oA s eieen % e |
(A) = (B) whfeam (C) STM
82. IS TS i shell AFEHT i Scafa o <o & g8 off -
(A) =M= (B) whifan (C) S
83. The highest gallantry award of Indian military during war is :
(A) Maha Vir Chakra (B) Param Vir Chakra
(C) At Vishisht Seva Medal (D) Ashoka Chakra
83. I@T © OO AR It 9 A T J01 (202 ¢
(A) T IEOF (B) RN oF
(C) wfs RS @Rl 7w (D) S 5
83. IFIICH AN SRS A ANRE AT A I 2JTF 2 2
(A) =T (B) NI F
(C) wife R#® Rl GIeee (D) I &
83. QERI-HHIE YRATR HAIYEHSIAI B S e semn
(A) wEIfeR =Ish (B) WA for =k
(C) afq fafere |an A (D) AT =k
83. I§ % SNH URATT 1 h Fait=d SRl TR T :
(A) WRTER =T (B) TR sk
(C) Afa fafere Tan we= (D) 3TN =k
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84. Which of the following is highest, among ranks of the Indian Army ?
(A) Brigadier (B) Lieutenant General
(C) Major General (D) Lieutenant Colonel
84. CIROR (R ARPHZE fooae FRfERS @RG! AEw 4% 2
(A)  feafeam (B) (TG (SICI(SET
Q) CT&R (ST (D)  (STRCBEAT FCefat
84. TIGA (A SO EWRIETR AMTAMISTER W A 2
(A) feaifear (B) (FTRFCHUIT (SIS
Q) TSR (SHIEE (D) (TG FCefa
84. RN Sela VAT Y@ Gl Sife o ?
(A) foifear (B) TR S
(C) TSR I (D) WHAIE HAd
84. Trefafed # @ & IR 91 & ¥l | wai= § 2
(A) forfem (B) e S
(C) TSR SIRd (D) e &
85. What is the name of the statue placed near Sardar Sarovar Dam in Gujarat ?
(A) Statue of Liberty (B) Shakti Vajra
(C) Statue of Unity (D) Shanti Stambh
85. @TAIGA HWIK I(IIRE A TS Floie 1 AfSYEGR s [ 2
(A) By oR s (B) *f&3m
(C)  (Bpy oF T (D) ¥ %
85. WGRICGA MR ACRIRF & R (S 7 1% F1 2
(A) o5 o feraifs (B) *feg
(C) TNy o1 2TMAD (D) =¥ T
85. TORIAH TRER W 'aR S<I(4 Wferre S@i @ G §a1 o1 ?
(A) VHF 9% faere] (B) wfw Wi
(C) VH ’AF =HA (D) i T
85. TSR H TGR TRIGR 9iE o I Tfya yiqm 1 1 919 § 2
(A) V= 3t faad (B) wIf® ol
(C) = ATE el (D) wifd &Y
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86. In which Continent is the Amazonian Rain Forest found ?

(A) Europe (B) North America (C) Africa (D) South America
86. SINGHE IO (P TS SRFS ?

(A) TT@EA (B) TwwiERA  (C) Wi (D) Wi S
86. SINIIGH IR (I TQWMCH SRAZS 2

(A) TT@E (B) TeWmRA  (C) Wi (D) Wi S
86. STHISH 3T@T 3TA T 99 TR ?

(A) T (B) W -smfem  (C) 3Tftheh (D) W - STHREH
86. 3THSH i o9l o fohe Hega & %2

(A) I (B) UG R (C) ST (D) sfaqor srAfER
87. Which of the following movies was not released in 2023 ?

(A) Jawan (B) Animal (C) Pathaan (D) The Kashmir Files
87. TRfie (P beribvg 2023 beTe e (oAl Fifeet 2

(A) T (B) «fcaret Q) #AN (D) W ITF FZeTR
87. WA (T BaMbEn 2023 Al I gl 2

(A) TeTH (B)  SIfsya (C) =t (D) W ST FIZ
87. TR 96 WEYAE! 2023 HREATEAE SRAR ST ?

(A) &M (B) wfHw (C) WA (D) ' YR wEed
87. fiAfafed § ¥ wF-d fihew 2023 # Refts 718 g8 off ?

(A) SEH (B) ufHa (C) WM (D) T SheHI HiEed

88. What is situated at the confluence of three streams Sandhya, Lalita and Kanta ?
(A) Vasistha Ashram, near Guwahati
(B) Ajan Pir Dargah, near Sibsagar
(C) Malinithan temple, near Silapathar
(D)

Garampani hot water spring, near Golaghat

88. I, FAleTOl TN FIF NS o0 THALRT FRITFAS (FCH! SRZ© ?
(A)  SARGIT AT I ST

(B) FREAIRE Ao SIS 19 w9iig
(C) Tomtisiaim To[ Afemidm S
(D)  CoNETRIGE ATI2[ AT T &l ©F
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88.

88.

88.

!, ST, IV O3 fon(b T 2N0ET ATNECE SR_IFS ¢
(A) R FE6IST AT s

(B) TSI 68! wiienis 11| vl

(C) etz Foadt Mfewige s

(D)  CoNETICHS oS! araiofifel T efwel

T, AfAdT AR hI=dT S ARNHIE STEREE TR 6 € 2
(A) <Y oT19M, TERR! Qe

(B) ASTH UR STTE, THa™R |raEfeme

(C) wifafem Af<y, faeThiaR SrerfermE

(D) TREYH 5 < G, TeTse e

)
)

TeT, Aferan SR ehidn i STeremiel o wH W fed €2
(A) TR e79M, TR & U™

(B) M YR TR, Re@ni & qrd

(C) wfertem wfeY, faamaeR < ™

(D) TREYH! TH UM % e, AT % ™

89.

89.

89.

89.

89.

Harihara also known as Hakka, and his brother Bukka Raya, founded which kingdom ?
(A) Chalukya Empire (B) Vijayanagara Empire
(C) Chola Empire (D) Hoysale Empire

T ARe 2o 2fE I (967 T 37 AT (e TSy afed FiRfew e
(A) Dl AFTED (B) Rermwsia A=rey
Q) (B A=IST (D) =T FASren

=iz RN 2@ A 2 W3k ok o2 391 a3t @i At sy swEfee 2

(A) DI TSy (B) fRemmem A=y

(C)  (oleT Srey (D) (2 ASIEy

BRER, S gaFhT GHAHa THISTEN, STRI faf whame S[aeht T, o6l TSIl MEERiHH 2
(A) =R ARSI (B) oS R A =S

(C) = |HIST (D) B HHTS

TR, S TRt & 919 | ot 1 1§, 7R 3Tk o1 aeht T 7 fohd WS il TOT i ?
(A) =R HHsA (B) TSR wHsa
(C) =it | (D) IS WU
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90. Saptakanda Ramayan was written by :
(A) Horibor Bipro (B) Madhava Kandali
(C) Ananta Kandali (D) Hemo Saraswati
90. TEPIe FMFY (Fiey foififest ¢
(A) =R (B) iz FWlel
(C) TT FWler (D) @I RTS!
90. GG NG Toe| FCATRCE ¢
(A) R R (B) &R FWleT
(C) T I (D) EATTS!
90. HWHTES TAFTE! | feRAHA 2
(A) BRIy’ (B) WY HUSa
(C) = HUSel (D) A’ HTEl
90. HGHUS THAY fhHh g forl e off ?
(A) B fay (B) WI¥E whafdl
(C) oa Hafd (D) BH HTEI
91. Which of the following is NOT an IPL team ?
(A) Delhi Capitals (B) Gujarat Giants
(C) Sunrisers Hyderabad (D) Lucknow Super Giants
91. MRREIR® T[T (FINCE! SNEf#ge nel 727 2
(A) fremt &Gy (B) TR SIRETR
(C) WRITEE TR (D) CH PN SIEDR
91. IR (P SRl e1. 7t 7w 2

(A) Tz Fif(GEm
(C) RIS 2RmEm
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91. TREM & W o7 fa e 7 el AT ?

(A) Teeedl shitdes (B) TSNIG STETAH

(C) HFUESRE BEIER (D) @S Ur ST
91. frAfafed § § HH-H oM ¥ Tt 219 & 8 ?

(A) ool shifteed (B) TSN SEgH

(C) HTEsH SIEI (D) &S GR SEH
92. What is the currency of Indonesia ?

(A) Ringgit (B) Dinar (C) Rupiah (D) Shilling
92, FYIHRAN Y@ 1% F 2

(A) e (B) T=lm (C) = (D) fifere
92. WG 4l 1 2

(A) fafre (B) == (C) =nfsfxl (D) fRifere
92. 3= 'AfEt wRiE w2

(A) Rfi@ (B) feir (C) (D) ffe
92. ST *1 YT FA R ?

(A) R (B) <R (C) =iy (D) Tafeim
93. Which sport is the Davis Cup played for ?

(A) Badminton (B) Table Tennis (C) Lawn Tennis (D) Cricket
93. (TfoR I (FARY (579 M (XeTl = 2

(A) @D (B) (G (Blm (C) = (bfg (D) f&s
93. (Pl FIT (Tfer Fiof (a7 2 2

(A) TIeRT (B) (BRel (G (C) =W @R (D) feco
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93. <fod FHEl 6 AREARER @R e ?
(A) defi=d (B) deel o™ (C) o fm= (D) fohehe
93. <faw % ford wa & g wWen s g ?
(A) Sefied (B) <o @ (C) @ ™ (D) foehe
94. August Kranti with “Karenge Ya Marenge” slogan was related to which movement for India’s
independence ?
(A) Non Cooperation Movement (B) Quit India Movement
(C) Khilafat Movement (D) The 1857 Sepoy Mutiney
94, “FCEA T A ENNIEE W% FIfE STt FIFTOR 2(F T4l (FIFC! SR GO TIR 2
(A) SR ACHIET (B) SR Sji5l ST
(C) TRsree SN (D) 1857 51 fooIZY Remim
94. PG TR “FERE T WA (FANH SRCOA FITTOR (A SNCHAET 7 7= foet 2
(A) SIS (B) SIS QT SCHIE
(C) TRt SNwEw (D) 1857 @31 PR Remiz
94. ‘'HERIE TSTea S’ T AT STATE T 9 SHeERAES| 9Hl § ?
(A) TRISTERITE HHTTHRA (B)  HRA AMRATE HHIEHRA™
(C) Tacmra FHEERA™ (D) 1857 "t fHur fsrmerm
94, "' A T ANk WY ST FHifd WRA ! Fasd & fau 77 oTider 4 Faifed of ?
(A) STEEIM Qe (B) YR Bl A_re
(C) TEaThd S (D) 1857 =1 fourdt fose
95. Which of the following airlines does not exist anymore ?
(A) Spicejet (B) Indigo (C) East West (D) Vistara
95. TR (@A RN AFR Sieg IETW 751 713 2
(A) “AIZHCen (B) Zfwal’ C) T @3 (D) fozm@I
95. NI (T R AZR SN (A Seg (712 2
(A) I3 5 (B) feran (C) =TT €@ (D) femm
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95. TMEEM o forag Wil g aAferarere e ?

(A) TEH S (B) zfe’ (C) W= (D) faem
95. Toefafad § 9 SH-H TaterE o1« sifede § =81 & ?

(A) TEESE (B) sfem (C) IRIAR (D) fema
96. Identify the word which cannot be made from CARBOHYDRATE.

(A) AHEAD (B) RETRO (C) YACHT (D) HYPER
96. CARBOHYDRATE F #i]| SIiZ&¢l F(&< Q1 776! foeie 74 |

(A) AHEAD (B) RETRO (C) YACHT (D) HYPER
96. (I *b CARBOHYDRATE (27 (941 41 T =1l ©f fbfze e |

(A) AHEAD (B) RETRO (C) YACHT (D) HYPER
96. TRMEM F& AeE@l CARBOHYDRATE M fegt grn ?

(A) AHEAD (B) RETRO (C) YACHT (D) HYPER

96. 39 V< ! Y89M, S CARBOHYDRATE & T8l S E1 S Fehell |
(A) AHEAD (B) RETRO (C) YACHT (D) HYPER

97. Which one of the figures is different from the rest ?

@&utu]
1 2 3 4

(A) 2 (B) 4 © 1 (D) 3
97. (! o SRR (ICe KT 2

3 ==l

1 2 3 4
(A) 2 (B) 4 © 1 (D) 3

97. Al M @0 IR (A SAem 2
@ === ;
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97. F& HIAY HMRAT TITRRIAHRR ST :
M| == | == ;
1 2 3 4

(A) 2 (B) 4 © 1 (D)

97. hfadl | ¥ HIA-H AW TRfqE | = 82
@ e | ]
1 2 3 4

(A) 2 (B) 4 © 1 (D)
98. Philately is related to :

(A) collection of match box (B) collection of postage stamps

(C) collection of currency notes (D) collection of fountain pens
98. TFeTlChler Jletcel R @ivs ¢

(A) TAGeZ PG AREZ (B) T 55 Mkerg

(C) YmF G e (D) DN (ol 2T
98. frelhlem Al AifFe 3

(A)  TRIEIE @7 A A<a (B) ©Is A g Maz

(C) oICeR @l A2 (D) ARl /TS (PGB (o) AT
98. firer aeian ASi W T 2

(A) Y3 SRy JYATA (B) =t fewe 9ymTA

(C) T fores Y™ (D) R YT (X)) JYFAA
98. firctect fored Helfyq @

(A) wif=" 1 fesslt 1 €U= (B) ST fehel hl €UB

(C) TR 1 9UT (D) RIS U T WIR
99. Which of the following is NOT of the same set ?

(A) Cash Payment (B) Mobile Banking

(C) Debit Card (D) Net Banking
99. =i T2a TG GTF (9151 TTEE T 2

(A)  =om ARy (B) GIRIZS (AR

Q) (TRHIE (D) &5 &=
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99. R Trlie @i 92 (Pl T ¢
(A) Sl il 2w (B)  CHRIZST iR
Q) (eRTHE (D) 5 iR

99. TR T&d TE YR ST ?
(A) e U S B (B) Wemsd difdh
(C) sfae &R (D) e difsh

99. frAfafEd § ¥ & W T & I FI & © ?
(A) TS YA (B) Tremsad dfeh
(C) sfae wE (D) e dfhT

100. Total age of three friends - John, Johnny and Janardhan, whose birthday is on same day - is 84
years. What was their total age four years ago ?
(A) 72 years (B) 80 years (C) 78 years (D) 76 years

100. €0l wece & @Al fof agi— &', &' Sl Sive I2079 9 (191w 84 7 | BIfR I 7[0St
IR S o e enfesT 2
(A) 723 (B) 803 (C) 783 (D) 7637

100. TS I3 - T, Tl G3R ST, TR Srfne] A2 et - (G 9397 84 =7 | BIF T B9l ©IC (G 3391 F°©
foat 2
(A) 723 (B) 809 (C) 783 (D) 769

100. 1AM AFMHRMA - 5F, S, SHREE, ST SHAHEE GHaare) - SEeT S19 84 siER | s fa
ToER SEieT ST oEwE ?
(A) 72 ¥R (B) 80 AR (C) 78 ¥R (D) 76 AER

100. o Sl — S, S TR ST, SRt S=afe ek € fem § - o6t ol 39 84 99 § | 9R I TR k! Fe
39 71 ot ?
(A) 725 (B) 80 I (C) 78 = (D) 76 a4

101. Raj has to catch a train at fifteen minutes past three in the afternoon. What would be the time on
a 24-hours scale ?
(A) 03:15 hours (B) 15:15 hours (C) 13:15 hours (D) 23:15 hours

101. Sice [fel fofd qifer consr fNAb® 9w (@ olG! 4fea a1al S| 24 - 951 TG I7e G2 73 6 29 2
(A) 03:15 9B (B) 15:15 =<BI (C) 13:15 T<B) (D) 23:15 5]

101. S [AeFet o6l (@0 AR WG G 4909 2@ | 24 - IBR T 76! I ZA 2
(A)  03:15 9o (B) 15:15 Wio=H (C) 13:15 @H=H (D) 23:15 9o

101. SESIEMA 3 e e fufera Tt ' TEmet e | 24-9=1 Hanard §6 T sHai S ?
(A) 03:15 =T (B) 15:15 == (C) 13:15 ==T (D) 23:15 ==

101. TSI 1 9 <A ITehd U e W $F sl €124 S & YHH W g9F 1 8 2

(A) 03:15 & (B) 15:15 & (C) 13:15 & (D) 23:15 &
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102. Statements : All pencils are pens.

All the pens are inks.

Conclusions : 1.  All the pencils are inks.

o~ o~ o~ o~

2. Some inks are pencils.

Z

Only 1 conclusion follows

=

Only 2 conclusion follows

Either conclusion 1 or conclusion 2 follows

SO

Both conclusion 1 and conclusion 2 follow

102. Tf& ¢ FBCEAIEIR (oATRRTETS F67H |

102.

102.

IR T2 B |

Pags 1. REIER (offdees BHa

2. fogim oaigl ez coifeeat |
A) @ PEIT 1S Teiae 29 AfF |
B) (&9 Pa® 2% Toke 29 A
) P& 1 w52[) 2 Toare 29 HAIfF |
D) 192 Tey Pralere Taare 23 AN |

e 3. coiforet wom |

T T Bl |

TANEE e 1. F (ol HifeT |

2. Rg3ifer (ol |
A)  SNE GoPIRER 1 SRR T
B) SYNIQ TIPS 2 SPEe
C) W TR 1 9 TR 2 SRRl I
D) To TPk 1 938 G2PIRER 2 SRRl R

fogfar: e Sfgen wAEER

‘II{:\IG’II heTHl GIfThR

EAE: 1. T Yo ifa®r

2. HEW GIfahR IFHahR
A) 1 SEUREd TR
B) 2 SEYNETd’ TR
) 1 ST 2 A TR
D) HFEl, 1 AR 2, &S
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102. whed : Gt Ofael 19§
gt U = ¥ |
fremd ;1. @eft dfael = €
2. o =R e €
(A) e ek 1 T gga S ¥
(B) hact frems 2 T ug S
(C) =1t frerd 1 = feerd 2 W agen T )
(D) foeerd 1 3R fremd 2 S W wg=n S 71
103. Identify the set that does NOT follow the common rule as others.
(A) 2:8:64 (B) 4:64:216 (C) 6:216:512 (D) 5:125:345
103. ST T2 [ 727 Sepieel w4t [{wsiio! foele 35 |
(A) 2:8:64 (B) 4:64:216 (C) 6:216:512 (D) 5:125:345
103. ST WOt @8 ARe fas sipret 7t w1 72t fbfere w0 |
(A) 2:8:64 (B) 4:64:216 (C) 6:216:512 (D) 5:125:345
103. TR 990 Y TEARR TR "9/ IH AT ?
(A) 2:8:64 (B) 4:64:216 (C) 6:216:512 (D) 5:125:345
103. 3F YT HI T8 H{ S TR HI T IHA 0 1 I & Bl ¢
(A) 2:8:64 (B) 4:64:216 (C) 6:216:512 (D) 5:125:345
104. If ROCKET is written as TQEMGYV, then what would be the last letter when RAINBOW is written
by the same code ?
A) Z (B) Y © A (D) U
104. T ROCKET & TQEMGYV f25I@ ' T4 =, (ST 6! F'&6 RAINBOW #1fts1 2319 wifes 2¢f(5t 6
T3] ?
(A) Z (B) Y © A (D) U
104. 3 ROCKET (F TQEMGV REFIE (7121 23, OIZa @32 A 2l RAINBOW (F141 2 (1T S0 S
7@ ?
(A) Z (B) Y © A (D) U
104. S ROCKET @ TQEMGV oA S, 3Tl o TW hesii RAINBOW forteet Siraen gi@re /1 S ?
(A) Z (B) Y © A (D) U
104. If¢ ROCKET &l TQEMGV & &9 # et Sirar 8, a1 S5t sie g’ RAINBOW i fer W 3ifaw 21er ==

BT ?
A) Z B) Y C A (D) U
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105. Identify the odd pair.
(A) Pacific : Water (B) Himalaya : Mountain
(©) Vesuvius : Volcano (D) Mississippi : River

105. & @FC0! Bl T |

(A) 2T 2 T (B) fawlem ¢ »i®

(C) Tl ¢ witarff (D) ffefefs ¢ @t
105. P (siwil Bfere e |

(A) =G ¢ T (B) feutiera 2 71

Q) CofeaM ¢ SRR (D) fififfst ¢ Tt
105. SN SRI@ A -

(A) fafrs -3 (B) Temre™ : g

(C) Ighram : ord g (D) fafafafy . &
105. SIS SISl ol 989 |

(A) TG : S (B) fewre™ : veld

(C) =gford : ST El (D) fufafafy . =

106. Which word features less than four different vowels ?

(A) Promotion (B) Sustainable (€©) Question (D) Potential

106. (RG] *7© HIfGrOcE T A forl for Faaef Wil 2
(A) Promotion (B) Sustainable (€©) Question (D) Potential

106. (W *(brS Hifoa < fo epicaa e wIic 2
(A) Promotion (B) Sustainable (©) Question (D) Potential

106. TR s GIGETE A TH TR 8@l g 2

(A) Promotion (B) Sustainable (©) Question (D) Potential

106. 9 ws H =R § 4 i @R 18R 82
(A) Promotion (B) Sustainable (©) Question (D) Potential
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107. Which of the four given sequences would be meaningful for the words ?
1. House 2. Street 3. Room 4. Town 5. District
(A) 3,1,2,4,5 (B) 5,4,1,3,2
(© 3,1,425 (D) 5,4,3,1,2
107. 1. =« 2. = 3. @l 4. T 5. feen .
G *TTLI AN AN TR (IO T S 2T 2
(A) 3,1,2,4,5 (B) 5,4,1,3,2
(© 3,1,425 (D) 5,4,3,1,2
107. 27G 5IRD SR N0 (G AR G w2yl 2 2
1. afe 2. AW 3. % 4. == 5. (el
(A) 3,1,2,4,5 (B) 5,4,1,3,2
(© 3,1,425 (D) 5,4,3,1,2
107. TR F ST FRIRAT S FRehR@! i TH i ?
1. 7 2. @M 3. @™ 4. AR 5. fSen
(A) 3,1,2,4,5 (B) 5,4,1,3,2
(© 3,1,425 (D) 5,4,3,1,2
107. U T IR STl H § HH-1 37 W3l o faIg |efe 2 ?
1. = 2. HWS*h 3. ®EQ 4. TR 5. fSen
(A) 3,1,2,4,5 (B) 5,4,1,3,2
(C) 3,1,4,2,5 (D) 5,4,3,1,2
108. Which of the following is correct when calculated from left to right, ignoring BODMAS, if the rule
says, 5+2=3,5-2=7,10+2=20 and 10x2=5 ?
(A) 9x3-1+2=18 (B) 5+1+4-3=19
(C) 6x2—-1+2=12 (D) 7+2+4-2=14
108. BODMAS T3] Sl 1 qM 5+2=3,5-2="7,10+2=20 S 10 x 2="5 J W(J 7 SFPRe 31 27,
CoCT AEMHT 771 EfifiTet el FRceT R s @NE! Ufe vg 2
(A) 9x3-1+2=18 (B) 5+1+4-3=19
(C) 6x2—1+2=12 (D) 7+2+4-2=14
108. M @F WAGI5+2=3,5-2=7,10+2=20 9% 10 X 2=>5 T, S BODMAS T2 T AN (ACF Gl

il AT AT A5 (0 &5 2
(A) 9x3-1+2=18 (B) 5+1+4-3=19
(C) 6x2-1+2=12 (D) 7+2+4-2=14
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108.

108.

e M AY 5+2=3,5-2=7, 10+2=20 3T 10 x 2=>5, 376 BODMAS 1 “ma@t Fafgam smfafwm
STRTRTTY fedme WiemHaisiet TR el U ?

(A) 9x3-1+2=18 (B) 5+1+4-3=19

Q) 6x2-1+2=12 (D) 7+2+4-2=14

e FEm 542=3,5-2=7,10+2=20 3R 10x2=>5 Fadl §, dl BODMAS &l 3@l Hd gL, 9M¢ 4§
TE T R AT A R F=fafad § 9 wiF-a1 98 7 2

(A) 9x3-1+2=18 (B) 5+1+4-3=19
(C) 6x2-1+2=12 (D) 7+2+4-2=14

109.

109.

109.

109.

109.

Of the following words, which would be the last to appear in a standard English dictionary ?
(A) CONTINENT (B) CONSTANT (C) CONSIDER (D) CONTINUE

GF T TG SfoaiTe RS *~oTea (@t *=< Fheiwse A 2
(A) CONTINENT (B) CONSTANT (C) CONSIDER (D) CONTINUE

e =rafr e @9t 9t sl 3Es) sifedieg @i anffe 3@ 2
(A) CONTINENT (B) CONSTANT (C) CONSIDER (D) CONTINUE

TMETETE B HIREhR I TSI, ¢ diarel A1 3Usi Hiard fogate e I ?
(A) CONTINENT (B) CONSTANT (C) CONSIDER (D) CONTINUE

Frefafad v § ¥, T i T N STaren ifam wsg B o1 & 2
(A) CONTINENT (B) CONSTANT (C) CONSIDER (D) CONTINUE

110.

110.

110.

110.

If A=26, B=25, and so on till Z=1, then what would be the sum of STAR ?
(A) 32 (B) 67 (©) 50 (D) 55

T A =26, B=25, 9% GWE S9[IG tol Z=1 2, (90T STAR I I (@I91a1 fFie 292
(A) 32 (B) 67 (C) 50 (D) 55

M A =26, B=25, @32 U3©I@ Gl Z =1 T, ©@ STAR -7 @516 T© I(J ?
(A) 32 (B) 67 (C) 50 (D) 55

e A =26, B=25 a1fg Z =1 faq Semret, 31ea STAR 1 SSerm&=n 98 S ?
(A) 32 (B) 67 Q) 50 (D) 55
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110.

afe A =26, B=25, 3R M Z =1 T TH YR €, q STAR T I 1 BT 2
(A) 32 (B) 67 (C) 50 (D) 55

111.

111.

111.

111.

111.

If the code for WATER is 67 and for DRINK is 56, then the code for RIVER is :
(A) 48 (B) 98 < 72 (D) 35

T WATER 9 AId S'@RaT1 67 W% DRINK 9 I T 72071 56 2, (90 RIVER T 10 8 72T (207 2
(A) 48 (B) 98 ) 72 (D) 35

qM WATER @3 &) ACF© 27 67 @A DRINK €3 & 23 56, ©I2(51 RIVER €3 FR(&F® T 3

(A) 48 (B) 98 (C) 72 (D) 35
WATER T ®e1 67, DRINK 921 56, RIVER 1 &el -
(A) 48 (B) 98 Q) 72 (D) 35

Ife WATER & faT i 67 § 3R DRINK % faU 56 ®, 9 RIVER & folw ®ig ® :
(A) 48 (B) 98 Q) 72 (D) 35

112.

112.

112.

What mathematical signs can be inserted respectively to get a correct equation (calculated left to
right ignoring BODMAS) ?

6513017 []115[]5=15
(A) —, =, +, - (B) -, X, +, —
€ +, -, X, + D) +, =, -, -

(AN 1T #[1 GF =itet a1 F) 92 BODMAS 3w siesvie F[) 65 [ ] 30 ] 7 [] 15[ ] 5 =159
GF R AT AR @FHER NeAfsT B T Twge F =foR 2

A —, +, +, - (B) —, %, +, -
<o) +, -, %, + (D) +, =+, —, —

G5 I AT (oice 1 alfdfes el T AfFERe T @0 *litd (BODMAS T ¢ AW
(AT T 9o T ZRCR) 2

6513017 []115[]5 =15
(A) -, =, +, - (B) —, X, +, —
€ +, -, X, + D) +, =, -, -
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112.

112.

TS G AEFRRE! SHRE 9R FHEAERE H4] 8 (BODMAS @ HafdaH, rfafwm=
ATEIY fedrs WreHsle) ?

65[] 3017 []15[] 5 =15

A —, =, +, - B) -, x,+, -

<) +, -, %, + D) +,+, —, —

eI FHIRROT (BODMAS i 3T i gU ST | T UMY W A & Feag shmer: &A@ v fag
< ST S Hhd © 2

651307 []155=15

(A —, =, +, — B -, x,+, -

<o +, -, x,+ (D) +, =+, —, —

113.

113.

113.

113.

113.

Lohit walks from Black to Pink, which are 9 meters apart. At Pink, he takes a right turn and walks
4 meters to Blue. He takes another right turn and walks a distance of 9 meters to Red. At Red he
takes a left turn and walks 2 meters. How far is Lohit away from Black ?

(A) 4 meters (B) 13 meters (C) 22 meters (D) 6 meters

@fRre @ ZAR %91 9 R rage 4351 {71535 Bete] (Aeils T | #1535 e (0F EIRIe 903 == 4 [ER
ISR F B A9 | 3® (08 771 FIRICS Y@ o= 9 WoF (T (@€ BH 2| ([{C Fe (08
GO (S W6 2 WOF (S DD | (2 Gfexl @& gee 791 e e e 2

(A) 4 TOR (B) 13 fSol= (C) 22 TR (D) 6 ToF

@I G (A0S I e 20, TR 7aw 9 fio| | P21iee o1 ol faces ale 10 @3k 4 SBR &6 g0 5
IR | (T SRR THMCE (IS T2 3R 9 FlBH 777 (06 @S (o1 | (@ (0F (7 A0 GG (17 3% 2 o=
T | (FIRS @F (AT T 0 R ?

(A) 4 RTE (B) 13 fo® (C) 22 ow (D) 6 o™

el etk Tishfam 9 fHer eremn | foerma forat smreifel fifdTm 4 fHer erememm sejerme drean | foa
ARETe ety fifear 9 faer Yefoy o | e foar smfafé fafdam 2 faer arem | eifear seisfAwmE
oY TSI el ?

(A) 4 TR (B) 13 fHer (C) 22 fer (D) 6 fHer

difed st § fieh T Jern € S 9 Hiex ot gt W & | ik W 9% Il JaaT 7 37K =g i 37X 4 W Fordm €
I8 T IR TR T G © IR ¥ q 9 Hiet ot T 79 el § 1 38 W o8 ot 7R et € 31 2 Hiex e
T | Siifed =t & fopat WE?

(A) 4 HX (B) 13 HIX (C) 22 HiX (D) 6 HieX
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114. Identify the word with no pair of consecutive letters placed together.

(A) Alphabet (B) Partner (C) Rightness (D) Station
114. (! G TR T Geaetesl 12451 =051 e 5 |

(A) Alphabet (B) Partner (C) Rightness (D) Station
114. (! GGG FH 7 A1 S=iEe FF = (s Hizrs e |

(A) Alphabet (B) Partner (C) Rightness (D) Station
114. TTRE 916l HigTeel ST I 21 giah w2 2

(A) Alphabet (B) Partner (C) Rightness (D) Station
114. 39 I hl TgaH L TG AR 78R 1 g SISl Wb |1 = @M T 7 |

(A) Alphabet (B) Partner (C) Rightness (D) Station
115. Statements : I.  Non-metro cities in the country have been suffering due to load shedding

115. & 3 I MR GG RSN 523 9I0E (Ao (xifea A1t @ e #1at 58 gl enfarz |
II. I I Rges AE0 V1 SR R, (O0F GG 52T MRES @I (i Ao

for quite some time.

II.  If the Government is not able to overcome the power crisis, load shedding
will be extended even to the metro cities.

Which of the following conclusions can be drawn ?

(A) Both Statement I and Statement II are effects of independent causes.

Statement I is the cause and Statement II is its effect.

Statement II is the cause and Statement I is its effect.

79|

S N oY

WSS (G Praigs Toe 29 i 2

(A) ¥ [ 9= T 11 7301 F9F F9eR AE (@[ doK |

(B) & I 911 Tf& 11 TCAG! (I TZS I SIS A (ZAT 2SR |

Q) Tf&F I trz T o= T 11 (207 31 2o |
(D) ¥f& I tzrz F19d 917 & 1 02z 30 9ol |
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115.

115.

115.

W[e: L @ g @2 Ry 2612 @8 &) (MeoR F9-CI08 ] =28 STe 9ol |
I &SR e 7306 ST Tors 71+ (NG *z@e e gl wige 2@ |
s Tl (@ TpRRRibes (TR T 2
(A) Tz f3fe1 =z [l 11 =& TR deq |
(B) Tox f3fel 3 RJMO I w2 TR 2o |
(C) FIfe1 2= Fimel @z RIS 11 =1 IfFeirsr |
(D) TR = Fiel @k PO == ~ifeiisr |
foefawic: 1. AN S FRIRERRT S geud Hifserd TRAE (Load Shedding) T 1@ Tiamaf st
T TR ST |
I S OE Hifserd MR sTiaEreral Sig-l grmeet Aifserd TRATAT ARTRATRR FHH T |
UIERIREESIERIREEEISICRIR R
(A) Tagfer 1 s faefer 11, 9a 33 SRMfT Sea
(B) Taaifer 1 o1 farsifer 11, Hel &'amr SR S
(©) faafar 1 o1 SEF e fagfar o osn fafy SeA
(D) fagfr 11 311 SR 1R fargfer 1 =71 faf sm=A

HIT: L U FH IR IR FE I G A AET T T § @ WL

II.  3TR SRR fosrell Gehe ¥ 3ok Tl I o1 wire TS 1 ST 0l Il e off =g S |
frefafed & 9 & @ fend e s g € 2
A) HITI RFHST I I T HROT & JuE

B) e I SR 1 ST foRel S h o q97e & |

~

(
(
(C) HITI HRU T IR w11 SHH YN T
(

D) R I FHRU § FRBYA [ HA TS T |

116.

Which of the following is different from others ?
(A) Ammeter (B) Perimeter (C) Altimeter (D) Anemometer

116. WRREIRS 7[2I (NG SRS 74T 2

116.

(A) «RBR (B) (ARRGR (C) wI=SRTGR (D) @G RoR

oA @0 W (A AW 2

(A) SUIfGE (B) =iRRGR (C) S=ALRGE (D) SHFCIRGE
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116. TR o1 TARRITHE S[&T -
(A) THHR (B) URfHeR (C) Tfrfer (D) TR
116. frfafad § ¥ wH-w1 TRl 9 e 22
(A) T (B) TR (©) et (D) TR
117. How many milligrams make one kilogram ?
(A) 10 (B) 103 (C) 10% (D) 10°
117. &3 fHeeniars 3o e e e
(A) 10 (B) 103 (C) 104 (D) 10°
117. <o N @ [Keenam = 2
(A) 10 (B) 103 (C) 104 (D) 10°
117. <9 fafermsii 9 foet 'um s ?
(A) 10 (B) 103 (C) 104 (D) 10°
117. o frefim @ ws fhamm s € 2
(A) 10 (B) 103 (C) 104 (D) 106
118. What would be the middlemost digit in the smallest number that can be made using all the digits

118.

118.

118.

118.

of 8936217 ?
(A) 3 (B) 6 © 7 (D) 9

8936217 FRANBT SRFCHLH! A2 T 9107 (R 2171 TeTos FRANGE 0F FINITTS (FACH! T 2N/ 2
(A) 3 (B) 6 © 7 (D) 9

8936217 €3 B SE I I oeT Fuws WAF 5% q1r o= F1 73 2
(A) 3 (B) 6 © 7 (D) 9

8936217 1 TE AARTHRRE! THM THI HE SAfgs e STARSHI ok RTe AR AHISTHIT |1 2
(A) 3 (B) 6 © 7 (D) 9

8936217 & HHY 3Tehl T ITANT Hlch oS ST el ToD BT &I h1 HEATH 3Tk =T BT 2
(A) 3 (B) 6 < 7 D) 9
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119.

119.

119.

119.

119.

Five cadets Charles, Harmit, Om, Piyush and Tapan were asked to pick up one each of the geometric
figures : a circle, a pentagon, a trapezoid, a hexagon and an octagon. They had a condition that
one cannot draw a figure which has a name with same first letter as that person’s name. Om’s
item has exactly one pair of parallel lines. Charles, Piyush and Tapan picked figures with more
sides than a quadrilateral. Piyush as well as Tapan’s figures had lesser sides than Charles’figure.
Who picked up the circle ?

(A) Harmit (B) Charles (C) Piyush (D) Om

|5 SIIFT (W6 Charles, Harmit, Om, Piyush ¥(1% Tapan ¥ Circle (J€), Pentagon (#1%¢%1), Trapezoid
(Gf#HferiT), Hexagon (I8gE) IR Octagon (T2ee) Wi Syififes Havza aiibicE Al &7<ta @il
T | S T (T (OETEIRR TG AR SR (ICS (D€ AU (-1 B [IAG s sl [N
@RIET 1 @ 9°S (@ Om < e 5% QeI FEIeT (92 A | Charles, Piyush 9% Tapan d foaw 2
TR FYSTA BRSO BfEF | Piyush S Tapan I 5@ Charles I baets w0 75 A AT |
Circle (3€) ! e Ao teifea 2

(A) Harmit (B) Charles (C) Piyush (D) Om

AAfvee 7 RIS (F91095) Charles, Harmit, Om, Piyush @<} Tapan (F yifufes 59 Circle (3©),
Pentagon (#1%g%), Trapezoid (Gfifemm), Hexagon (FTwE) €3¢ Octagon (TFQE) < (@ (I
&b [z Fre 79 Tl | ioE @3 *1$ (el feet (@ oAl AreE @5 @36 B e “iFEE |, @
Dafba Mo 2L OFFd O NER ALY TR AL G52 Om «F Hafbre 5 aaesio e @2
JCR| Charles, Piyush @3} Tapan ‘DQ—QCW o @ ARG B @z Ner | Piyush ¢} Tapan @9
5@ Charles <3 5@ (2 T q1= 257 | Circle &\ T (& wrerles 2

(A) Harmit (B) Charles (C) Piyush (D) Om

e faferell ®UTE R Charles, Harmit, Om, Piyush i Tapan @l ETHR HHw HHE,S‘IT{:T i
Circle, Pentagon, Trapezoid, Hexagon A Octagon @l 9@ e arnifeEel | fosearfe e g men
SAME S TaraE At G |y eSS aamiEt sfEan | Omf arermfen S’ fam et 99 |
Charles, Piyush 3TRI Tapanf SeRTRGRET STE-2rsiT ST 3@ | Piyush 3T Tapan®@l Charles™
e WA | Circle Bl 9 9= @ ?

(A) Harmit (B) Charles (C) Piyush (D) Om

g el Charles, Harmit, Om, Piyush 3R Tapan Sl Th TSI dﬂghfﬁ Eql g & fau wer
T : T 94 (Circle), T G0 (Pentagon ), T HTHAH (Trapezoid), Tk W24 (Hexagon) 3R Th
JTWHIU (Octagon) | TR T off sl RIS i THT Thfd & o Fehal FSTEehl SAUSH A 1 T2 &R 39
Zferd & SAUSH 919 F Tgal &R o T9H &1 Om & TEeH H IR @l &l foagpa T siel €|
Charles, Piyush 3iR Tapan 7 IgYS 9 1feeh st areft Wﬁ'ﬂf Al | Piyush iR Tapan ! 3TTehfai
%I YU Charles & 3Thfa ¥ &1 off | 99 FI fHa M2

(A) Harmit (B) Charles (C) Piyush (D) Om
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120. Soniya drives four km towards the west from her home, where she crosses a bridge. She takes a
left turn and the drives for six kmes, till she arrives at the town center. Here she takes left again to
drive for another twelve kms to reach her office. If she decides to take a shortcut on bicycle, what
would be the shortest possible distance between her home and office ?

(A) 18 km (B) 12 km (©) 9km (D) 10 km

120. (RFHE 71 o[t #if5a fitst 5if7 6.6 o8l 5aiE @em weik i@ 2 | oig ArSwies 9 = .l ek Bidw
(BT THZ® 23 | 3T i3 771 1S ee IR w11 17 6.1, 2111 53112 w12 =Ifzes #1es! | I 912 53 A
BT (RIS P& o7, (S8 ©I2q ¥ S SF6T e Peros HSIIT 79 [Fole 297
(A) 18 M. (B) 12 .fL. () 9= (D) 10 =EhL

120. N O AT (A #if6a e o 7.5, NS Biets, @IE @ 9h ET Sifeeds FE@ | @1 AN e (e
(TR =R = T80, NS Bfercar weleas (heem ¢oTTRd | G2 (31 S S e e .50 anfe siferca wifzeet
TR | (7 T RERE 7T A AR PIals @17, oz ©F AT @R SRFER 1y Jeos 1y Fo
2?1 ?

(A) 18 & (B) 12 M () 9 =M. (D) 10 R

120. GFTEmEn TEH T FwE St o e fier MR weee aret S o gen 16 aRea | fo smat
fafeTm 3" o 'fier. o 2red SR diedl | forell s sieme stfafy fifdam fom forer 'firer iR
HIATIAA et Hrergferama diedl | gfe fol drsehal aremaqT g’ ammsi oret, faft 7' e wegfafd
o g S o9 ?

(A) 18 fa.fa. (B) 12 fa.fa. (C) 9 fmfa. (D) 10 fw.fA.

120. I 319 =R ¥ 9fey ot 3R =R et M =t €, Sl 98 T Jof IR Hid! § | 98 916 AR gt § 3R
TR He Ig=H qF BT TR T M FAR € | TS I8 T HEATeE I Tga & forg R F od gedt §
3R aE foret Ter TS =erd ® 1 Afe o% wEfhd | widwe o @ o o ®, 9 SHe R iR FEieE &
e A Hee g R get ?

(A) 18 km (B) 12 km (€) 9km (D) 10 km

121. If 9 < x2 < 25, then the correct value/values of x is/are :

(A) 3,45 (B) 4,5 C©) 3,4 (D) 4

121. W 9 < 22 < 25, (0T x T W% W / APR (2 —

(A) 3,4,5 (B) 4,5 (C) 3,4 (D) 4

121. M 9 < 22 < 25 7, O(F x ~49 & A 2 ¢
(A) 3,4,5 (B) 4,5 (C) 3,4 (D) 4

121. SS9 < x2 < 25 S, 3Tectl x 1 9N 9 / AFGR :

(A) 3,4,5 (B) 4,5 (C) 3,4 (D) 4
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121.

Qﬁ9<x2<25,ﬁxaﬂﬂﬁﬂﬂ%:
(A) 3,4,5 (B) 4,5 ) 3,4 (D) 4

122.

122.

122.

122.

122.

Michael needs to go to university for his test. He started from the East and came to a crossing. The
road to the left ends in a Railway station, straight ahead is the Museum. In which direction is the
university ?

(A) South (B) East (C) West (D) North

MEFCA AIHR @ R [ A | (0 7[E =191 7@l I8 IR 96! ifenfere Tofge 24|
(OET NG e ALC! GBI (5T (FoeT® (*1F (7CR; (AT (AN =N9iCat 51°Ca1 b1 efers wiiez | Refmyteraiae
Ao RELISACKIE I

(A) wfERe (B) (C) =If5x (D) T

NEEAE O ST T KR SR 2@iem 21 G 5-7WS (AT Q! 8F F@ GFo G
I | AWM AT G0 @TACHHIE T ZCACR, IS AN I | ReRme @i M 2

(A) Wl (B) & (C) =If*ow (D) &

ATghell TG &1 Hepaaiaierard i | folt Arsitwm SiiaRamH A A G SR |

ST AR Y& Lo qraeiedl, disit e BfSEmmE diedl | geEaiareasn g fes ?
(A) HreTEl (B) HISEl (C) HrrwEl (D) Hw@

3T T WReT o T Hrsehet 1 favafammer™ ST § | o g i faem Tieht 3T =R & 3% g 31k U 9NR
R TEA| 9 AR H TgH Th 9 WIH T AT A 7| Sk S H Tgh W Y TH IR T
forvafommer o faon & €2

(A) <faqo (B) Td (C) ufv=m (D) W

123.

What would replace ?? in the triangle set ?

(4) (8) (5)
@A® @A@ AN
(A) 9 (B) 11 Q) 10

(D) 12
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123. fage WS GR 2?2 T & 721 Fifo 2

123. fqow 7 . w@mﬁs‘zﬂ"—@ﬁ%—m?

A A

123. Wﬁ@xmw ??@W@W?

123. @ & By S H 72 o1 T F1 o ?
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124. What would be the Arabic numeral for MMCDXLVII ?
(A) 2,567 (B) 2,457 <) 2477 (D) 2,447

124. MMCDXLVII T It <<} 7221061 5 29 2
(A) 2,567 (B) 2,457 (C) 2,477 (D) 2,447

124. MMCDXLVII &3 997 22y F 33 2
(A) 2,567 (B) 2,457 (C) 2,477 (D) 2,447

124. MMCDXLVII 7 3TR& HfSH™n |11 ST ?
(A) 2,567 (B) 2,457 S 2477 (D) 2,447

124. MMCDXLVII & fau swet 3ish o= g ?
(A) 2,567 (B) 2,457 (C) 2,477 (D) 2,447

125. Which two terms would come next in the series :
24, 26, 35, 63, 48, 124, 63, 215, ?, ?
(A) 76, 430 (B) 83,310 (©) 99, 511 (D) 80, 342

125. 24, 26, 35, 63, 48, 124, 63, 215, ?, ? *RIFANGIN /TS O (e 51 A1 AT 2
(A) 76, 430 (B) 83, 310 Q) 99, 511 (D) 80, 342

125. 2W€ HHCe 276! (e 7 TR S 2
24, 26, 35, 63, 48, 124, 63, 215, 2, ?
(A) 76, 430 (B) 83, 310 (C) 99, 511 (D) 80, 342

125. TEEM 99 2 UfEen S g9d 39E A 2 24, 26, 35, 63, 48, 124, 63, 215, 2, ?
(A) 76, 430 (B) 83,310 Q) 99, 511 (D) 80, 342

125. ST 24, 26, 35, 63, 48, 124, 63, 215, 2, ? H 3TN HiF ¥ T IS T 2
(A) 76, 430 (B) 83,310 (C) 99, 511 (D) 80, 342

126. Ramya’s mother is the only daughter of Prachi’s father. How is Prachi’s husband related to Ramya ?
(A) Father (B) Brother (C) Paternal uncle (D) Grandfather

126. TOF T A6F fPres @@ GRS 26 FIT TOR GCS (F0 7RI AT 2
(A) fre (B) 9 © 3« (D) <
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126.

126.

126.

T A AG IR GG GG | TR AT 26 T AAF I 2
(A) foret (B) % C) =l (D) Jrgmi

et fomran yreita fagfs e’ fears | gr=ifa e T a1 S S 2
INERERD (B) foc1/ e (C) o= (D) fo=it

T Y AT YT o Ut ki Sehalidl Siet € | TR o ufd 1 TR W R HeY § ?
(A) foa (B) (C) == (D) <=

127.

127.

127.

127.

127.

A six-faced regular die always has the total of dots in opposite faces as 7. Four such dice are
thrown, and the top of them shows 3, 3, 2, 6. What would be the total of the dots in the faces
touching ground ?

(A) 15 (B) 14 ) 21 (D) 17

< -+ & 7w e Fifivzs awl [ At aemE Sicg s 2ifs [ReRts Hidmma 7R 19
(IS AR 7 27| DI A 4= Amief wieedrs sofar fHifdme @ 3, 3, 2, 6 e AR @
et | sl F2oR B o Tt FifiTrzs ol W R 5 @i [

(A) 15 (B) 14 ) 21 (D) 17

a5 fFrafire =T “imiiz (=) 7ft RekTe oja @ @ieres 71m1 7 | @2 530k oS #imit et s =@
GRR SIHE M 3, 3, 2, 6 77 @ | Bfil = 21 jroa Repefm @b @ises v 23 2

(A) 15 (B) 14 ) 21 (D) 17

T Ol T Seaf 3ol HERRE o o< SSer Ssame 7 |1 His TE TRaE! g st
TG 3, 3, 2, 6 Taf-erci | memfe o SreieR ST -

(A) 15 (B) 14 ) 21 (D) 17

Teh D€ el fataa I H gHen fawia Tetent | foigail =61 9 7 21 € 1| T8 =R 9 theh W &, 3T S
I W 3, 3, 2, 6 foig fo@mE T T 1 ST B B o) Tershi B feigedl &1 o 4 7 g 2

(A) 15 (B) 14 ) 21 (D) 17

128.

128.

Identify the next set in the series :
L3P, R4W, Y5E, G6N, ?
(A) O7v (B) R7W <G Q7W (D) P7X

L3P, R4W, Y5E, G6N *R¥&AIGR #9791 H<2foth! forie 75 |
(A) O7V (B) R7W (C) Q7w (D) P7X
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128. 2Ave Fubd 2o 7eEfe b fHfee weEe |
L3P, R4W, Y5E, G6N, ?
(A) O7V (B) R7W (C) Q7W (D) P7X

128. L3P, R4W, Y5E, G6N WIS S I a1 -
(A) O7V (B) R7W (C) Q7W (D) P7X

128. S@a L3P, R4W, Y5E, G6N, ? , § 3Tl | ! 954 |
(A) O7V (B) R7W (C) Q7W (D) P7X

129. What letters would fill the blanks in
AO_BPP__ _ QDR__ _ SSFIT
(A) OCREQ (B) OCQER (C) OCQRE (D) ORQCE

129. (PG 3 ANZE AO__BPP____QDR__ _ SSFTT 3 i@ BieoTz 73 F7
(A) OCREQ (B) OCQER (C) OCQRE (D) ORQCE

129. @ o] §mrg 5jf T3 2
AO_BPP__ __QDR__ _ SSFTT
(A) OCREQ (B) OCQER (C) OCQRE (D) ORQCE

129. F9 TERRS TGl ST 3776, W ST ?

AO__BPP__ __QDR__ _ SSFTT
(A) OCREQ (B) OCQER (C) OCQRE (D) ORQCE

129. AO_BPP__ QDR ___ SSFTT ¥ fiad T &l &9 ¥ 3781 W7 ?
(A) OCREQ (B) OCQER (C) OCQRE (D) ORQCE

130. Identify the incorrect Roman number.
(A) Thirty six : XXXVI (B) Ninety nine : XCIX
(C) Seventy four : DXXIV (D) Nine hundred : CM
130. S1ym (I ARG Bole T |
(A) =@ 2 XXXVI (B) fRItw 2 XCIX
(C) @®PTeR ¢ DXXIV (D) =™ :CM

130. Siwm @i 20 Hfere 0 |
(A)  =F : XXXVI (B) fa=iI=riE : XCIX
(C) B : DXXIV (D) TF*9:CM
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130. TR 79T T At e ?
(A) g™ 5 & XXXVI B) TN :XCIX
€ fafas:Dxxiv (D) SHT':CM
130. TeTd UHA H&A1 984 |
(A) BUE : XXXVI (B) T=ma : XCIX
(C) =W : DXXIV (D) s d:CM
131. How many squares can be identified in the figure ?

131.

131.

131.

(A) 21 (B) 18 Q) 19

woi] foacore fFwG! I9(Fa (ol T 2

(A) 21 (B) 18 () 19
eive forg i 3o Fofre ==t i@ 2

(A) 21 (B) 18 () 19
HIEMRAE JH o &7 A1 HA1 2

(A) 21 (B) 18 Q) 19
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131.

fear m fo= o fora ol we=Im < 9ehd © 2

(A) 21 (B) 18 (C) 19 (D) 26

132. What would be the digit exactly in the middle when 65749 is subtracted from twice of itself ?
A) 9 (B) 2 < 7 (D) 8

132. I 65749 FRAHIF A F28 FRAF K1 KA 31 2, (S0 FAFAGE 5F FiNes 4 S 0o! 7F 79 2
A) 9 (B) 2 < 7 (D) 8

132. 65749 (& O e (A [ s O TR o= F1 & 2
(A) 9 (B) 2 < 7 (D) 8

132. 65749 @I Taf7 SHHSTRTAAERRE TG sl WA SHASHIN TR GHEiSHRE 17 2
A) 9 (B) 2 < 7 (D) 8

132. S 65749 %! 3T SR ¥ = fean e @ ufom & St o= # SiF-91 i 2 ?
A) 9 (B) 2 < 7 (D) 8

133. What should be the missing number ?

133.

133.

133.

69|15
8 |12 ?
41610
(A) 18 (B) 16 ) 24 (D) 20
oifEe ARG 6 27 =l 2

69|15
8 |12 ?
416110
(A) 18 (B) 16 (C) 24 (D) 20
S(FS 74l 6 26 Bivw 2

69|15
8 |12 ?
416110
(A) 18 (B) 16 (C) 24 (D) 20
A G | 3716, W™ S ?

69|15
8 |12 ?
41610
(A) 18 (B) 16 (C) 24 (D) 20
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133. 3Tl S = Bl AIfeu ?
69|15
8 112] ?
6 10
(A) 18 (B) 16 ©) 24 (D) 20
134. Which set of letters would fill the gaps in :
MAK, LEL,[_| [ |, JoN, uo
(A) JKL (B) KIN (©) KIM (D) JLK
134. MAK, LEL,[_| [ ] JON, IUO 3 K& 2oz (eichi <eiieafe »41 R 2
(A) JKL (B) KIN (©) KIM (D) JLK
134. (@i 2fsi¥ MAK, LEL, [ | ], JON, IUO - 9 S&f%® =7z 7 53 2
(A) JKL (B) KIN (©) KIM (D) JLK
134. TEMER 99 TG Ia0 AN SRATET 7 W - MAK, LEL,[ [ [ ], JON, IUO
(A) JKL (B) KIN (©) KIM (D) JLK
134, e 1 -9 T9e MAK, LEL,[_| | |, JON, IUO ¥ fism T =t wam 2
(A) JKL (B) KIN (©) KIM (D) JLK
135. Which of the following words is correctly spelt ?
(A) Jeography (B) Jeometry (©) Jeopardy (D) Jeology
135. RS (SR *@< I s e =g 2
(A) Jeography (B) Jeometry (©) Jeopardy (D) Jeology
135. 6% (I =103 I ASF 2
(A) Jeography (B) Jeometry (C) Jeopardy (D) Jeology
135. TR e Haef S 91 2
(A) Jeography (B) Jeometry (C) Jeopardy (D) Jeology
135. Trfeiied # @ & 9 9sg Wel o 9 foran w2
(A) Jeography (B) Jeometry (C) Jeopardy (D) Jeology
-00o0-
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